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1. Bal Index s often used as a tool to measure -

(1) Relative trade performance of individual countrics in particular commoditics
(2) Comparative COst advantage of Nations

(3) Product life cycle of different commoditics

(4) National Competitive advantage
Wﬁwﬁmmﬁ%m@maﬁmﬁmwmf
(1) 991 Tqoft § aerr-oer 297 & e =AM gagf

(2) ST BT FereTs ST e

() RIS awgeit #1 sea s =

@) T gieqytag e

2. Match the list below relating to the benefits and cost of economic integration :

A. Trade creation i. Movement of production and resources in
opposite directions.

B. Trade diversion 1. Become active when a member country does not
augment export but simply shifts its imports from
low cost source to high cost source.

C. Trade deflection iii. Shifting the locus of production from high cost to
low cost production.

D. Polarisation forces iv. Goods produced in third country entering a free
trade area through a member country having

lower tariffs.
Codes :
(1) A-ii, B-iii,C—iv,D—1i (2) A-ii,B-iv,C—1i, D —iii
(3) A-iii,B-i,C—iv,D—ii (4 A-iii,B-ii,C-i,D-iv
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C. =R &eger ﬁi.m%%ﬁﬁm@wwmﬁ
Sares & e ST

D. gdrbTeT 94 iv.wamﬁm@amm%ﬁcsmmaﬂ
%Wﬁgﬁm%ﬁﬁﬁﬂm%l

IS :
(1) A—ii, B—iii, C—iv, D—i ) A_ii, B—iv, C—i, D—iii
(3) A —iii, B—i, C—iv, D —ii (4) A—iii, B—ii, C—i,D—iv

3. Domestic Tariff Area in India means :
(1) Any area outside SEZ
(2) Any area except the custom bounded area
(3) Any special allocated area
(4) None of these
s F wig BH & w o R
(1) gsis & ae Hig N &= |
() T aESs TRAT B BKH DR A e
(3) B g erEfed &=
(4) 378 q BHE Bl

4. FIPB (Foreign Investment Promotion Investment Board) is replaced by which of the
following agency ?

(1) FEFP (2) FFIP
(3) FPIB (4) None of the above

TpeEdE (RN R g FEw ) B Frefafen § & feg oo &
gfereenfae fpar T B 7

(1) THSTHI (2) THTHITE
(3) TRl (4) ST & § B A
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5. The Uruguay Roypqg Provided 'Sunset Clayse' tq control :
(1) Customs Valuations 2) Dumping

(3) Technical barrjerg to trade 4) Di

5 e S 5 @E(; ’) nglgietflemem
(1) €91 geep Tt (2) S
(3)W%i%ﬂ:a‘cs=ﬂaﬁa1mq' @) far Fgem

6. "'World Economjc Outlook’ and 'Global Financial Stability' reports are prepared by :

() IMF (2) WTO
(3) World Bank (4) UN

(1) oETE ) frsT @R e
3) = J5 @ g

7. A country is not able to fund its imports through its capital exports leading to deficit of its
reserve. It is known as : :

(1) Fiscal deficit (2) BOP deficit
(3) BOP surplus (4) Fiscal surplus

@%ﬂm@@mﬁ%wﬁmﬁmaﬁﬁﬁréﬁﬁwﬁ%
RTEd I8 A@SR B F+H & ol 81 5 g8 W ey oiwr @ -

(1) TR e (2) =ty arer
3) draTdr ST (4) TSR STfey

8. Which of the following institutions is known as the "Soft Loan Window" of the World
Bank ?
(1) IMF (2) IDA (3) IFC (4) ADB
ﬁw%ﬁgaﬁﬁmwaﬁrfaﬁ%aﬁ“mﬁﬂﬁ@”%wﬁw
ST & 7

(1) AETATHE  (2) AEST (3) STl 4) S

8. What is the full form of CAS with reference to W.T.O. ?
(1) Country Assistance System (2) Country Assis;ance Strategy
(3) Common Assistance Strategy (4) Country Assembly Strategy
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13.

A
s (WTO) & Ha¥l d Hied (CAS) &l quf &9 08 7

(1) T31 FemEar JoTe (2) g1 FEEAT TOIT

(3) AP FEEAl IO (4) F=1 STE TR

According to Eclectic Paradigm, which of the following is not basis for

internationalization of production ?
(1) Ownership Advantages (2) Location Advantages
(3) Factor Advantages (4) Internalization Advantages

WW%W,W@HﬁQ%W%WW
oeR TE B ?

(3) s T (4) STATREHTOT WA

Which of the following is not one of the Fundamental Accounting Assumptions ?

(1) Going concern (2) Consistency

(3) Accrual (4) Conservatism
W@ﬁﬁﬁmﬁmmmﬁﬁ@aﬁ g7
(1) adw= o= (2) T

(3) MeEad (4) Siea=

Social Balance Sheet shows :

(1) Social costs

(2) Social revenues .

(3) Value of employees of the organization

(4) All of the above

s e gie Rt 2

(1) |1 AR (2) IS T
(&@Tﬁa‘sqﬁaﬁﬁzﬁrq@q (4) ST G

If the overhead cost iS expected to increase if the new project is implemented, then while
calculating cost of capital :

(1) Whole overheads cost needs to be considered.
Q) I will be ignored.

(3) Only incremental overhead will be considered.
(4) Only incrementat overhead will be ignored.

PHD/URS-EE-ZOZZI(Commerce)(SET-X)/(A)



5
# T HIT HEF - '
(1) §Y°1 72T @rE 97 fAER S & TEyaHar & |
(2) 39 AT HT T I
(3) ®ad ghaeer Iufterg 97 = AT S|
(4) FHaA ghzaler Iufteqy 9T & FE Rar S|

A

14. Capital gearing is higher if the proportion of debt is :

(1) Lower (2) Higher (3) Indifferent ~ (4) Equal
goft frafer arfees 2 aft wo1 %1 SguE B
(1) &4 (2) =A< (3) I @) FEl Bl

15. Capital structure of business unit consists of :
(1) Equity and Preference share capital
(2) Equity, long term debt and short term loan
(3) Equity capital and debt capital
(4) Equity, preference and debt capital
TAETT §H1E P TN FIGAT g f= onfaer € -
(1) sfrad ofR adfmar /@7 g
(z)m,mzﬁwaﬁtsﬁzﬁﬁm

(3) gfemrdt gofl of o1 Iof
(4)5@2@,?&@@?%@

16. In which of the following situations, the payback period method is advised for evaluation

of investment opportunities ?
(a) Overleveraged business

(b) Cash rich business

(c) Uncertain market conditions
(d) Stable market conditions
Choose the correct code :

(1) (a) and (b) only

(3) (b) and (c) only

(2) (a) and (c) only
(4) (c) and (d) only

PHD/URS-EE-2022/(Commerce)(SET-X)/(A) P.T.O.



A
Frefarfgg & @ fva Refa o fRg & 0@ ® et & fem qdew  srafey
Ty @ gae @ ol ® 7
(@) aNaveaiss Ay
(b) IHT Yy AIH™
(©) arffaa g A Ry
(d) ReRr g R

TE P g1
(1) DI (a) AT (b) (2) @aa (a) 3T (¢)
(3) BIA (b) AN (¢) (4) Baa (c) 3T (d)

17. A salc and lease back arrangement is more suitable for lease having :

(1) Liquidity crisis (2) Surplus fund
(3) High profit (4) No profit or loss
o B R R ol et 3% aaen stfers ITgF B

(1) aIaaT g6 (2) oo ffer
(3) I=w @™ (4) HF @TH IqT B ABI

18. Financial deepening refers to :

(1) Increase in the number of participants in the financial system
(2) Increase in the financial asset as a percentage of GDP

(3) Increase in credit creation

(4) Increase in lending by commercial banks

fasirg Te=ar H Hafsa Sl © ¢

(1) i wonel & wfewiEt @ g # gha

(2) SEM & gfaga & @9 ¥ B 9o 7 gl

(3) ®°1 g5+ 4 3=

(4) aforegs FHi T IUR H g

19. Maitch the following :

List — 1 List - 11

A. The technique that is used in examining the effect of 1. Hiller Model
change in one variable at a time.

B. The process of developing the frequency distribution of net ii.
present value.

C. The technique that is used in examining the chances of net iil
present value greater than zero.

D. The technique is used when investment in future is to be iv

Sensitivity Analysis

. Decision Tree

. Simulation
decided on the probable outcome of previous investment.
(1) A-i,B-ii,C—iii, D —iv (2) A-ii,B-iv,C -1, D ~1iii
(3) A —iii, B—iv,C—i,D —ii (4) A-iv,B-1i,C~ii, D -iii
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FTATET 1 At i -
-1 -
A. 98 TH6 ST oh g9 F UH oX F uRgdy $ i e} died
TG BT greqer B F gAeT # SRy
B. 8 TWHM g7 $ ararar R @ Reig 539 i gaeaeierdT e
B giFar
C. & Tt N ST g7 4 e gf& adae i, o/ &
T B HHEAT B S F pAr oy 2

D. G116 I IYGFT q9 fbaT ST B oo wRsy F iv. RagasH
Fas Red PR 3 @l oom o g9 fear

ST 2 |

(1) A-1,B-ii,C-iii, D-iv (2) A—ii,B—iv,C—i, D—iii

() A-iii, B-iv,C-i,D ~ii 4 A-iv,B-i,C—ii, D—iii
20. According to CAPM, overpriced securities have :

(1) Zero betas (2) Negative betas

(3) Zero alphas (4) Negative alphas

Hodien $ oTgER, At Hwa al wfosgfoat § @

(1) g== e (2) THRTHF AT

(3) LTI ATH (4) THPRIHD ATHT

21. The cost arising out of the failure of the customers to meet their obligations when
payment on credit sales become due after the expiry of which the credit period, may be
attributed to which of the following ?

(1) Collection Cost (2) Default Cost
(3) Delinquency Cost (4) Attrition Cost

Teht BRT U IRET B U J {Aeaar § 39 8N anht aFg o
e B W T 37 @ o 8, e BT o[ wma 8N 3 A,

Prefafad 7 9 fFas Rig RreR ™ ST 991 8 7
(1) €38 | 2) Pk arE

(3) STYY AR (4) Tie= AR
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22,

23.

24.

Improvement in PV ratio can be done by :
(1) Increasing selling price (
(3) Reducing variable cost (4) All of the above
PVaﬁmﬁﬁwmmmmm%?

(1) st g qoTT (2) fers ForsroT ST
(3) qRESHT @FE B HH BT (4) SIS G

2) Altering sales mixture

Which one of the following is not among the assumptions of the MM Model ?

(1) Perfect capital market

(2) Equivalent risk classes

(3) Unity for dividend pay-out ratio

(4) Absence of taxes

Srfeiad § @ B THu Wisw @ Al § 8 787 g7
(1) &1 ol 9

(2) TEgd e &

(3) AT P A & A TR

(4) HI B AR

From investor's point of view, the cost of capital is :

(1) Interest rate (2) Market value

(3) Yield of capital structure (4) Stock exchange value
FRT® & gitedor 4, IO H AU B

(1) =T & (2) IR ™

(3) Gt |TEAT B ITA 4) V5 e g

A, B and C are partners in a firm sharing profits and losses in the ration 4 : 3 : 2. TheY
agreed to take D into the partnership and gave him 1/8 share. What is their new profit
sharing ratio ?

(1) 4:3:2:1 (2) 28:21:14:9

3 23521:1455;‘{“3 . 4 4:1:2:1

A,B 3R CUH AR ¥ O 4:3:2D oum § < aD
‘ ‘ AT-gy dfed &

& gEErd & a9 B U @End gu ok S® 18 ey femy) gemr 7 O
aizarmangmw%?

(3) 28:21:14:8 4 4:1:2:1
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26. Whjc_h one of the following methods of Inflation Accounting has been proposed by
sandilands Committee of U. K. ? '
(1) General price level method (2) Specific price level method
(3) Current cost accounting method (4) Generally accepted accounting principles
qg%Oﬁﬁ%ﬁs\vqh%mWé@aﬂ%ﬁq%@ﬁaﬁﬁﬁﬁﬁm
g7 gEdied fBar T g 7
(1) 9E™ gog &) fafe 2) faRkre geg @ @
(3) IAAT AR AT G&IT (4)%@@@@@1%@%

7. Combined leverage can be used to measure the relationship between :
(1) Sales and EPS (2) PAT and EPS
(3) EBIT and EPS (4) Sales and EBIT
qgwaﬁa#mmq%aﬁaiﬁa@rwﬁ%mﬁwmm%:
(1) fer=hr SR gdiTd ) died R Fhud
(3) SfamEd TR SdTH 4) T SN SEeTEd

28. When the foreign currency assets and liabilities match in terms of amount of exposure and

timing of maturities, it is described as :

(1) Financial hedge (2) Natural hedge

(3) Perfect hedge (4) Netting
Wﬁ%ﬁgﬂqﬁqﬁﬁwwmaﬁw&mm%w
%ﬁzﬁﬁﬁﬁ@wﬁﬁ,a‘rgﬁwwaﬁhﬁﬁmm%:
(1) fr<ig s9 (2) wipfas T

GRS

(3) g @l T

29. If the EOQ for an item
next year gets doubled, what shall be

of inventory in a firm is 1000 units. The estimated demand for the
the revised EOQ next year, all the other relevant

cost remaining same ?
(1) 1000 (2) 1414
(3) 2000 (4) None of the above
qﬁ@mﬁm@aﬁma@méﬁﬂlmm%umaﬁ%m
mﬁgﬁém%,maﬁﬁmﬁéaﬁﬂ\wm,mw
qTeRe AT G el § 7
(1) 1000 (2) 1414
(3) 2000 (4) ITAEFT F € HIg Tl
P.T.O.
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30. Market risk is also known as ;
(1) Systematic or Diversifiable risk
(2) Unsystematic or Diversifiable risk
(3) Systematic or Non-Diversifiable risk
(4) Unsystematic or Non-Diversifiable risk
TR SRITT Bl v B @ §f o oI o R
(1) =yafeer a1 Ry s
(2) sregafyd a1 fafer snie
(3) =gafem a1 IR-FAfk Rem
(4) STt a1 IR-Ffqw sifew

31.  As per the Gordon Model, in which situation dividend theory becomes irrelevant ?
(1) When retention ratio declines
(2) When rate of return is equal to cost of capital
(3) When dividend pay-out is zero '
(4) When the rate of return is higher than the cost of capital
mﬁm%m,mmﬁmwmmmam%?
(1) STE SR S 7 FREe ol 8
(2) ST FIOE H T GOl B TEE B ATER BRdl 8

(3) ST AT G L B
(4) ST/ qIE B & Gon B AT q oIRGB

32. Production function is not based on the assumption of the :

(1) Substitutability of inputs (2) Complementarily of inputs
(3) Marketability of products (4) Specificity of inputs
e BT @ RO X STEiRa 78 R

(1) 3ge @t gfeena aFar  (2) FTIE B [

(3) Il @ YU &THeT (4) ot @ iR

33. A monopolist always operates in the :
(1) Inelastic segment of demand curve
(2) Elastic segment of demand curve
(3) Unitary elastic segment of demand curve
(4) None of the above

PHD/URS-EE-2022/(Commerce)(SET-X)/(A)
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@@WE‘I gaem o et e B
(D) 91 5 &1 gei=er =S

(2) HUT a5 HT AEER w3

(3) H1T % FH UHTHF AR =S
(4) ST F § g T8

34. The inverse relationship between variations in the price and quantity demanded is not due

to:
(1) Income effect (2) Substitution effect

(3) Future expectations (4) Law of diminishing marginal utility
HEd IR HFT ) qEw F Brren B 4= Fgopd d@9q Bas B0 T8 B 7
(1) T gH°Eg (2) wfeam= g9

3) HAasm FH I=T (4) BREH™ S ST &1 FEE

35. Find the marginal revenue of a firm that sells a product at a price of Rs. 10 and the price
elasticity of demand for the product is -2 :
(1) Rs.5 (2) Rs. 10

(3) Rs. 30 4) Rs. 15
TH B B ST OO ST FIRT ST 10 B9 F HEA 9T 3G 99l 2 JAT

IO B HET FH BT qAE 28 -

(1) 5599 2) 1059%
(3) 30598 @) 15593
36. Sub-optimal allocation of resources under monopoly to cause social welfare loss is often
termed as :
(1) Deadweight loss (2) Allocation drnift
(3) Monopoly loss (4) Opportunity loss

THTHR & ded GHEITH HETT & JHAM H RO 91 I FGarE B I9-
Zeaay ofded Hl TRIX HET IR & °

(1) s9< @ (2) €T TBE
(3) THIEHR &l (4) T B
37. Which of the following is first order condition to maximise profit ?
(1) TR-TC
(2) MR =MC

(3) MR cuts MC from below
(4) Slope of MC curve must be higher than that of MR curve

PHD/URS-EE-2022/(Commerce)(SET-X)/(A) P.T.O.
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e Y AT i

(1) & /Eim .

@ @@ I Z0 g @ pre

@ ﬁ?jaswaﬁ ViR o @ it BT e

( . . §

we oo firm model” is an oligopoly model, which is also known 4 .

. The Dom 2) Stackelberg Model

(:) CB‘eurtrrna;lt Model (4) Kinked Model

f:;%)@m”@amwm%,%ﬂ?%wﬁﬁmw%:

(1) a¥s A=A (2) R HIST

(3) eI HSH @) freps IS

which of the following market conditions ?

(1) Monopoly (2) Monopolistic Competition

(3) Oligopoly (4) Perfect Competition
ﬁwﬁ@aﬁamwaﬁmﬁﬁaﬁﬁwmqﬁé@m%?

39. Excess capacity 15 not noticed in

(1) THIEBR (2) THTEHR A
(3) STTEHR (4) ot gt
40. For which of the distributions Mean and Median are equal ?
(a) Binomial Distribution (b) Poisson Distribution
(c) Exponential Distribution (d) Normal Distribution
(1) only (a) (2) only (b)
(3) only (a) and (c) (4) only (b) and (d)
FFY de1 % o wrew ST AT €9 € ?
(a) fEue fezor (b) @raEs R
(c) =i oot (d) == Ao
(1) Fad (a) ) Fad (b)
() F () 1 () (4) Bt (b) e (d)
41. A distributi . . . I
and ZT(‘;:‘;(S)? where the value of arithmetic mean is maximum as compared 1 medi2®
)N istribui
(1) Normal Distribution (2) Positively Skewed Distribution

(3) Negatively Skewed Distribution (4) None of the above

PHD/URS-EE-2022/(Commerce)(SET-X)/(A)
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S o gD B AT H et T B AN ARy
(1) AT oo (2) TN @y & fas R

() TIRIAS =9 § fawm Bagor  (4) Iue § § P &

42. The power of test is denoted by :

(1) Alpha (2) Beta (3) 1-Alpha (4) 1-Beta

g™t B T ERT e e S B

(1) STesht (2) e (3) 1-37T @) 1
43. Process of arranging data in new order is called :

(1) Manipulation of data (2) Standardization of data

(3) Sequencing of data (4) Standardized input

3¢ F T H F rEfud A B BT FEaEh B

(1) 32T 1 ] (2) 3T BT HHBIHIT

(3) 3 H IIHAN (4) ATHIFA Y

44. Analysis of variance is a technique used :
(1) To test the homogeneity of several variances.
(2) To test the homogeneity of two variances.
(3) To test the homogeneity of several means.

(4) To test the homogeneity of two means.
THROT T fIASOT Toh qeheileh T SUAFT BT SIRIT 8 ..., :

(1) ®F RF=Tamelt @ THEIAT & g3 HA & fAg )
(2) & GO P THSYAT B G B & [T
(3) 311 TEMT B THSIAT Bl U0 HH & T |
(4) Q) T B THEIAT B IR B b Q)

45. Select the incorrect statement out of the following regarding correlation and regression :
(1) Correlation is the movement between two variables and is symmetric in nature.
(2) Regression establishes functional relationship between two variables.
(3) Correlation studies linear and non-linear relationship between variables.

(4) Regression aims to find dependent variable.

PHD/URS-EE-2022/(Commerce)(SET-X)/(A) P.T.O.
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(1) weEE & FdT B
aaﬁ%ﬁﬁﬂWW“ )
giwagﬁwaﬁ%eﬁamamﬁvmwmwmm%'

(4) gfRETAT I N
46. An empirical relationship between standard deviation, mean deviation about mean and
quartile is : _ ) :
(1)4SD—6MD=5QD (2)4SD-5MD_28];
(3)6SD=5MD=4QD | (4)55D=4MD_ B
' F «= TP AT qaH g

(1) 4uq ST=6TH H=5F7 = (2) 41d H=50q S =6F =
(3) 6Td ST=5TH =47 3 @) Sua ST=4TH =67

47. Tf a random variable x follows chi-square distribution with 3 degree of freedom, then the

mode of x1s :

o 2) 1 (3) 2 @ 3
aﬁ@a@%ﬁsmwmﬁm%wm-mwmmm
3, Y xHT IGTD 8 °

(o @1 3 2 4 3

48. Which of the following sampling scheme has no prior fixing of the number of observation
to choose ?
(1) Snowball (2) Inverse (3) Stratified (4) Multistage
Wﬁﬁammmﬁﬁ%mm@maﬁmwaﬁé
fererieor 7&f ® 7 S

(1) Eet Q) z7ag ¥ () BlwEs @) TgEE

49. zthich?of the following type of sampling can be in the absence of proper sampling
ame ?
(1) Simple random sampling with replacement
(2) Simple random sampling without replacement
(3) Stratified random sampling
(4) Systematic sampling ,
ﬁaﬁwﬁh%mﬁﬁﬁﬁﬁmwwwém%?
(1) wfreemas & a1 qIa AGIesH LB
(2) uftreTeHT B AT TR AGREE TLABIT
(3) = TG T
(4) HafRE TR

PHD/URS-EE-2022/(Commerce)(SET-X)/(A)
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50. Netflix is a classic €xample of :
(1) Skimming pricing
(3) Penetration pricing

(2) Value based pricing
(4) Cost plus pricing

(3) LT T Py
4) 9T | otftep qew Rrafxor

51. What are the components of holistic marketing concept ?
(a) Relationship Marketing
(b) Integrating Marketing
(c) Internal Marketing
(d) Performance Marketing
(e) Socially responsible marketing
(f) Brand Marketing

(1) a,b,c, f (2) a,b,c,d, e
(3) a,b,c,e @) a,c,d,f
Y Q9o STauReT & e FT § 7

(a) gy fage

(b) ATBIET Bl THIDHA HIAT

(c) STiae fauo=

(d) wee= fagque

(e) GMITF &9 9 RBER [{uem

() =iz fagor

(1) a,b,c, f (2) a,b,c,d, e
(3) a,b,c,e 4) a,c,d,f

52. 'Which of the following is not a dimension of Transactional Leadership ?
| (1) Contingent Rewards (2) Laissez-Faire
(3) Active management by Exception  (4) Planning for long term
Frefaied § | ®HF A9-29 Agd & M 78 R 7
(1) 3THIEHH JEHR (2) STE&TRY
(3) 3T9aE ERT 9Fhg vae (4) &9 afy % T =T 99
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Lewin's Model of Organization's Ch
ange

53. What is the meanin

process ? , ~ technologies and relatio
. and making new assign / ns.
(i) Sqengﬂl.gz‘;;v’ ) ple are made t0 realize the nfeed for change.
(2) Itisapr .on by changing people, task, structure and

(3) It involves taking action 0 modify a situatio

rechnology of the organization.

(4) None of the above;ﬁ Py
5 arE  qo aftad S
; gﬁaﬁﬁrﬁﬁﬁaﬁraﬁ%ﬁaﬁmﬁﬁqﬁﬁaﬁm“

(1) < &,
(z)ngaﬁ@m%m%’ém
e

ﬁaﬁmﬁ%mmmmﬁﬂ%l

(4):;craaﬁﬁﬁaﬁ%:@

antS,

54. Which of the following organization has utmost mutual understanding and is suitable for

a dynamic environment ?
(1) Free-form organization
3) Network organization

F § Pm-ar el
SIS EC S SR 27
(1) SH-HE dTST
(3) Aead G
55. Which of the following approaches of perfomance based payment deals with both the

amount of increase in pay and period of review ?
(1) The merit approach (2) The informal approach

(3) Qi’l:"{he automatic approach (4) The single-rate approach
gt e R $ Freen § & B g # T
A e # oty A & W@ # 7 o A

(2) Virtual organization
@) Horizontal organization

mf%ﬁqmﬁiﬁmr@m%ﬁr{nﬁm

(2) STARA EST
(4) DTS HH

(1) AT g (2) sFiTET gRehT
(3) T e (4) TH-a gfREHT
56. Who coined the term Total Quality Management ?
1) Herzb '
E 3; Keurr: Le:fv - (2) Edward Deming
(4) McGregor

PHD/URS-EE-2022/(Commerce)(SET-X)/(A)
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A :
e O T grw e el !
(1) gt (2) wsae 3
(3) B¢ qfa 4) ¥R

57. Which of the following refers to increasing fluctuations in inventory as 4 result of change

in the customer demand ?
(1) Bullwhip Effect (2) Safety Stock
(3) Enterprise Resource Planning (4) None of the above
ﬁﬂ%@ﬁﬁ@ﬁqmaﬁﬁﬁw%qﬁwﬁ@ﬁmw'
e B HeRia Har & 7
(1) ATgsh THET (2) LT "X
(3) TEH O Ao . (@) Sode § & g T
58. The theories that explain the formation of 'Informal Groups' are t0 include which of the
following ? -
(a) Propinquity Theory (b) Similarity or Balance Theory
(c) Displacement Theory (d) Need for Achievement Theory

(2) only (a) and (b)

(1) only (a)and (d)
(3) only (a), (b) and () @) (a), (b), (c) and (d)
‘ﬁwﬁ%g@'%maﬁa@mﬁaﬁmﬁﬁﬁﬁmﬁiﬁaﬁﬁ@%ﬁ
e BT B 7 - | -
(a) TorepeaT Rt | (b) TR a1 A R
(c) Foreaw fasr=< (d) Suarer RS P STEIThAT
(1) Pacl (a) 7= (d) (2) B9 (a) 3R (b)
@) (a), (b), (©) X (@)

(3) B (a), (b) X (©)

In which of the payment of bonus is linked to performance of specific employees or group

of employees ?
(a) Profit sharing plan (b) Gain sharing plan

(c) Social system plan

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) 4) (a), (b) and (c)
Sﬁmwwmmﬁmmﬁﬁ%wﬁwﬁﬁw
(a) St ETT HTA FH AT (b) I HEM B B IS

(c) QT Haed FIoT
(1) %3 (a) (2) Bad (b)

(3) (a) 3R (b) I (4) (a), (b) 3 (c)
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. that consume
: w bcncﬁts = N
60. Attributes ¢ could not find the game €
(2) Rel

and believe they
~ fitive ) .
o Compcti nal l’ointS-Of-Pm‘ily (4) Pmms—of-dlffcrcncc
I ON¢
ki S EL I

(3) Correla . o ol AT
@Tm%éﬁ?mﬁ%ﬁﬁagﬁmﬁaﬁ$mq¢1mr
& g 3 7 TE Tt
a3 & 3= el STl €
s i FETT (2)&51917{@(1153%%
3y e REEA (4) 3t B AT

consists of five dimensions. Which of g

of ¢

f service quality

QUAL Model ©
on of SERVQUAL ?

61. SERV
ing is not dimenst

(4) ReSpOnsiVeneSS

follow

(1) Empathy (2) Tangibles (3) Consistency

émgwﬂa?ﬁmmgﬂﬁcﬁa % ¥ Pt & & B SERVQUAL #

s 78 BT ,
(3) dadn (4) STETEEE

(1) GEgER ) o
following decision making approaches, a Manager picks up a
od enough under the circumstances ?
(2) The Bounded Rationality Approach
(4) The Cooperative Social System Approach

According to which of the
course of action that is satisfactory or g0

(1) The Behavioural Approach

fyfeatEa 8

o7 FIAT & o AR oo HArSeEH AT TAT S

' ) (2) gl g8 qbErTadt geahIT

(4) TEB qHEISTS AT g eI

63. One trait that dominates the personality so much that it influences nearly everythung &

person does, isa :
(1) Global trait (2) Specific trait

(3) Cardinal trait .
- (4) Central trait

e fadear S @ 9 36 Ha EE 47 @

(1) 3fzae fagmen ’(2) e g

(3) FfEAa fagraan 4) 32 ﬁ;
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g4. The Johari Window of interpersonal behaviour has 4 Quadrants. Which one of them
represents what is unknown by the person about themselves but is known by others ?

(1) Open self (2) Unknown self
(3) Blind area (4) Hidden area
mWﬁaﬁsﬁmﬁ4a§eﬁﬂaﬁ%lsﬁ@ﬁW*ﬁaﬂ
Wm%ﬁmmﬁﬁm%am@ﬁ%mmm
(1) 3T e 2) I AT
(3) =TES TRAT (4) B39 g

g5. Which of the following is rot a basic function of 'Scanlon Plan’ ?
(1) Philosophy of competition (2) Identity

(3) Competence (4) Involvement system

Frefafad § @ B S W B g B 78T 2 7

(1) gfraRar #1 zg= (2) qe=
(3) argar (4) FFTEY SoTdt

66. Identify the pricing strategy where the mark-up is inverse to the elasticity of demand :
(1) Shadow pricing (2) Skimming
(3) Penetration pricing (4) Ramsey pricing
(1) BrET g fFreier (2) Repf¥
(3) waeT eI frenieer (4) T8 T MR

67. Which of the following statements defines boundary spanning ?
(1) It refers to obligation of an individual, firm or institution to account for its activities

and accept responsibility for them.
(2) It refers to the process that helps the organization and its employees to link with their

external environment through specific activities/functions.
(3) Itrefers to the science of morals, principles and rules of conduct.

(4) It refers to the multiculturism management.

Prfeiad & @ SH-97 o9 99T FER $ IRt &3l & ?

(1) 98 & afe, w ar gen & S @1 Sger afarEt @ e
SEUAT & ok I8 T Reiel @R & 21 fee

) 98 IT URHAT B Gerid BT B S d@ed AR I FHHamdl & AR
TiafaftEl/e™l & ATEd § o1 Rl IET | S § #eg B B |

3) T& e, sl ok oY & il % s @ gaiia & 7 )

(4) 9% IgEwpiaE gEe P T BT B |
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68.

70.

71.

A

where there 1S recommendation of the

; e kinds of a type of
zc}lljer?ilsz(llselmt with humorous and 'slice Of hf;r tltnmsarket zﬁllzleilosmto -u-se for giv:n
marketing goals and characteristics of products, g petitive si g
is known as
)] MEDICAD (2) PROMOTOR y
(3) ADCAD (4) COVERSTOR ’
aﬁrmﬁﬂzﬁaﬁ%, fo o faIoE © aﬁaﬁ«ﬁm‘ l %qm””;aﬁ"ﬁ%
TR 3R et & frg STAFT Dl ST F BT & 1 o
2
(3) T (4) FaE

Work measurement refers to : . . _
(1) The length of time i+ takes to complete the work assigned to 2 particular job

(2) Improving working methods
(3) Arrangement of machines according t0 operations
(4) Planning the work and working for plans

is defined as dispute between- parties submitted and decide by a neutral

------------------

third party. .
(1) Collective bargaining (2) Affirmation Action
(3) Arbitration (4) Negotiation

................ ﬁaﬁaqﬁawmu@ﬁaﬁﬁﬁqaﬁmﬁqﬁ%eﬁamﬁ
%mﬁqﬁmﬁﬁmw%l'

(1) afes e (2) gfte HEAE
(3) A=FET (4) STaEd

The financial institutions have major say in which of the following corporate go"emance
models ?

(1) Japanese Model (2) Anglo-American Model

(3) German Model (4) Indian Model

PI-ID/URS-EE-ZOZZ/(Commerce)(SET-X)/(A)
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AT 3 B fm s g A
’ WWWWE{W 7 degEr # AEE g 2l

z 7
(1) AT Ty (0 s
(3) A9 Hfza ) -8 qga

(4) ardT grza

72. (‘?’hlgz( ;,: )tfc following is not an individual method of performance approval ?
5 Bchavifl:(;znAppmsa] . (2) Management by Objectives
e o ¥ Anchored rating Scale(4) Check list Method
VA B qe s a1 o i e 78 7
) ) it & am =
() NS 71 ot e w4y G o

73. thcf’) of the following theories of labour welfare believes that workers are becoming
more and more aware of their ri ghts and welfare measures can appease them ?

(1) Philanthropic theory (2) Placating theory

(3) Public relations theory (4) Functional theory

ﬂmxmmwﬁ;aﬁqmmﬁmw%ﬁsm@ﬁm%
L ﬁ%HvWWWﬁ@%ﬁWmﬁgﬂWHﬁ

zZ7
(1) T fagr (2) @i farT
(3) 97% FaaTa (4) HEfTs Rasr
8. i, is a type of option in foreign exchange market which provides the holder

the right to purchase or sell foreign currency at the most favourable exchange rate realized
over the life of the option.
(1) Forward reversing option (2) Preference option

(3) Look-back option (4) Basket option
................ fagell 9g1 a9ie § % UHR & a9 & N 9RS Bl FEd B

a7 7aH AgE faf g 87 17 fEeel go1 @ded a1 9= @ R gem

FIAT B .
(1) wtraz frafd faee (2) ¥ 9eeq
(3) qF-a% faweT (4) arhe faed

75. "4R's Strategy of Government is undertaken to reduce and recognize NPA accounts with
reduction in total bad debts.” 4R's in the statement is not referring to :

(2) Recitation

(4) Reforms

(1) Recognition
(3) Recapitalization

PHD/URS-EE-2022/(Commerce)(SET-X)/(A) P.T.O.



4R o TR B TEIR @a;g%.ﬂjﬁﬁ;;i g o
FF olx geaFA B T Y8 '
(1) wT=ra (2) wE @

(4) I

ing i CElL?
76. Whi : the following is not the feature of OT . .
ch of the 2) Nationalized computerized networking

(1) Quick transfer and disposal system ' .
4) Fragmentation of regional stock exchange

(3) Ring-less trading system o 7
PrfeRaa & @ @19 OTCEI & GRS - _
(1) @Rg wE7ReT AR Feer groTelt (2) TP 5‘5@%“5" 'Ei‘ia_g"
3) ey R Reed (4) @A &1 I TaEE
al crises ?

77. Which of the following is characterizes the early stage financl

(1) Falling prices of residential properties. _ .
(2) Excessive euphoria about the future prices 9f certain assets.
(3) Excessive pessimism about future assets price.

4) St ting share prices.
agnaﬁgs prices %ﬁ;ﬁqﬁqﬁaﬁﬁm%?

78. What is the term used popularly for the situation when speculator being dominant in the
market, expects a drop in the value of particular currency and he begins selling it

forward ?
(1) International fisher effect (2) Bandwagon effect

(3) Interest rate parity (4) Relative version effect

w@%%miﬁzﬁmmﬁsﬁmmwﬁwmw%mmﬁ
mggaam%,ﬁmgm%nﬂﬁﬁmazﬁwﬁam%ﬁﬂﬁ

SERIN ]

= ST Yol PE T &1 © ?

(1) SFaiE bR a9 (2) dsE UHE

(3) =TT & FHCT (4) 99T HEHIOT GHE

79. Which of the following statement is wrong with respect to Euro Notes ?
(1) Euro notes are like PNs for obtaining short term funds
(2) Euro notes are legal tenders in the form of a banknote
(3) These are denominated in the currency of the coun | i
whe d.
(4) Represents low cost funding route. = T they are 15505

PHD/URS-EE-2022/( Commerce)(SET-X)/(A)



 PITHT Per oey  7
(Z)Iﬁ*ﬁﬁw%ﬁg%mm%ﬁmmmm%;

80. The linear }'elation between th
at eVery point in time js knowr

1as :
1) Capital .
(3) Sec}:) ket Lm.e. (2) Security Market Line
3 unty Characteristic Line (4) Market Specification Bias

g’;a?%“g& TR Wﬁaﬁ?wwwmﬁﬁ F drr Y

g STHT ST 2
(1) T T (2) GE&T amTR 3@
() G e e (4) TR e e
81. Margi.nal equity funds are alternatively known as
(1) Gilt l?unds (2) Index Funds
(3) Hybrid Funds (4) Balanced Funds
T STt we @1 Avfas w9 § 9T ST D
(1) Free wgg (2) ¥ BzH
(3) BEfs wzH (4) ¥ies wed
82. Reverse repo rate is a tool used by RBI primarily to :
(1) Inject liquidity (2) Absorb liquidity
(3) Protect bank credit (4) Build reserve
gﬁﬁﬁwﬁaﬁmg@mﬁmﬁmaﬁ arll T ITHIT
(1) gsiere fafFafsd (2) Taond fofrafsS
(3) TR b BiST @) s Red
. 83. ICICI was established in 1955 by an initiative of :
(1) Reserve Bank of India (2) World Bank
(3) International Monetary Fund (4) Industrial Financial Corporation of Inida
ot 1 org o1 Mg H T 1955 F FhEbl gBd | g8 o ?
(1) =g Rod F6 (2) faga 9%
(3) SIS TR B (4) R ot facha
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¢ al Papers 4 7 h
. A): 1 notes 1
g4, Assertion ()% - ot peri oy aving short g,

Reason (R o maturity- ) is false:
R) is truc. A° o .
(1) Reason ) is true. Reason (R) 15 fél,se e, but Reason

2 Assertion 1 <y ,
i .nd Reason

3) Both Assertion A) an . |

( e and Reason (R) is correct explanation

of AssertiQH_ (A)(-A) and Reason (R) is &V
B cznll I G T o

(R) is not correct explanat,
n

(1) T R) g B, AR
dd | |
T Bt (TS g e (0 P00

iy IWW@)%W%WW(R)W(A)%[@

. FDI is known a8 hot money- . o

Statement II : Participatory notes arc assc
1 Statement 11 is incorrect.

(1) Statement I 18 correct,

2) Statement I is incorrect, Statement II is correct.
(3) Both Statements arc correct.
(4) Both Statements arc incorrect.
mlzmlaﬁmﬁ%*@q_ﬁmm%u
e 11 : g e

(1) Fg= 1980 2, o I7ed 3| (2 HUA 1T
(3) QT e HEl g1 @

86. The system of collective barg
been adopted and provided under :
(1) The Industrial Disputes Act, 1947
(2) The Trade Unions Act, 1926
(3) The Industrial Employment (Standing Orders) Act, 1
(4) The Taft-Hartley Act, 1947 ) Aet, 1390
aﬁmm%ﬁﬁ%m%@ﬁmwﬁmﬁw

T & K gEd ed SaM fhAr T B

aining as a method of settlement of industrial disput® has
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A

. which 1s the majp governin

89.

(1) Commercig] Banks

2
T T R e Ty S
fFaes TR - ?
(1) AT e (23){115@ Q i
ORISR @) T @t s
. h , .
Which of the following has been appointed as the regulatory agency regarding the matters

of consumer right violation ?
(1) National Consumer Protection Organization
(2) Central Consumer Protection Authority

(3) Union Consumer Protection Agency

(4) National Authority for Consumer Protection

%mﬁﬁ%mwéwémﬁmﬁamwm

(1) TETT IUART T T (2) B Sws ST SRR
(3) FF ITHRAT FLeToT TS (4) IUsRT GYaroT B o TS WIREBTeT

What does protest means as per Section 100 of Negotiable Instruments Act ?

(1) The defaulting of payment instrument by the drawee in order to prevent payment to
drawer.

(2) The process of freezing the payment instrument by the drawer owing to its failure
being brought before the due date.

(3) A certification by a notary public of dishonour by non-acceptance or non-payment on
the request of the holder within a reasonable time.

(4) None of the above

TR Rraa i Ed @1 a)1 100% SR &y & &= o § 7

(1) STTEOTdT B FRIM b B [ Il SR PAH e & g% w3 |

() g fred & fawa 89 @ HROT I8 < [ § 9B S H B gfpar

3) up ST Y B WX g% d gAY W R a1 R-gaE w1
MR B D gfsdd ERT FHTOIHT |

(4) ST § § P &I

Which of the following policy has lost its sheen consequent to the implementation of the
GST law in India ? |

(1) Monetary Policy (2) Fiscal Policy

(3) Trade Policy (4) Exim Policy

PHD/URS-EE-2022/(Commerce)(SET-X)/(A) | P.T.O.
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(1) Dz R (2)mzm‘m«‘nf?f
(3) =R R (4) Tt

91. Which of the following does not fall in the ambit of objectives of th.c Competition At 9
(1) Encourage competition (2) Prevent abuse of dominant position
(3) Protect investors interest (4) Regulate mergers and acquisitions

gzﬁ%zrﬁﬁf TE e & ?

92. If there is breach of conditions of contract by the seller :

(1) Buyer can repudiate the contract
(2) Buyer is still bound by the contract
(3) Buyer can renegotiate the terms of the contract

(4) Contract stands nullified
qﬁﬁ%ﬂmﬂa@éﬁaﬁsﬁmmﬁﬁﬁmm%:
(I)Waﬁéﬂaﬁmmm%

(2)@”&?{1?3@1\‘13@@3@%
(3)Wa@ﬁaﬁmﬁwmﬁmﬁﬁmm%

(4)343@%@@3161%

93. As per Section 80G, the maximum deduc
(1) Rs. 1,000

tion allowed for any cash donationis up to:
(2) Rs. 2,000
(4) Rs, 10,000

(3) Rs. 5,000
msoﬁ%w,mﬁmm%mmmm%:
(1) 1,000 593 TH (2) 2,000 592 TH

(3) 5,000 93 TH (4) 10,000 93 TH

94. StatementI: Reduction of tax liability within the framework of law is tax planning-

Statement I : Reduction of tax liability by utilizing the benefits of deduction available
under the Act is tax evasion.

(1) Both the Statements are correct. (2) Only Statement I is correct.
(3) Only Statement II is correct. (4) Both the Statements are incorrect.
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(D) AT T g §

) Fae T 1798 2
(B\WWHW%I

(4) Tt P e E
A trader buying timber under a forest lease via auc
() TCS (2) TDS
(3) Income tax (4) Forest Excise Duty

> fra N SR @Sl EiEs ar eiiinlis}

(1) & & Ty
(3) JAFHT

tion is liable to pay :

2 1 g g
4) 79 IR ge

Under Section 31 of the Income Tax Act, deduction can be claimed on account of
............... of plant and machinery used in normal course of business.

(1) Capital and Revenue Expenditure on Repairs

(2) Current Repairs

(3) Current repairs plus 1/7th of Capital Expenditure

(4) None of these

Wmﬁmaﬁmméﬁmwéwmﬁmmaﬁmﬁ
O IR A B . & HROT BN HT @7 AT S TBaT 2

(1) 999 WX o oiR ot &g

2) I TG

(3) I 7R SR ST =5 %1 1/74T e

@) 3% 9§ B 7

The perquisite value of education facility provided by the employer to the children of
employee is nil if :

(1) The cost of education per child doesn't exceed Rs. 1,000/month.
(2) The cost of education per child doesn't exceed Rs. 2,000/month,
(3) The cost of education per child doesn't exceed Rs. 3,000/month.
(4) The cost of education per child doesn't exceed Rs. 4,000/month,

P.T.O.
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ﬁzﬁwmmﬁ%ﬁ

sq3 2000/418

@) ufy a=a famed P AT
orrect about the residenti '
as Not Ordinary Resident.

al status of a Company ?

88. Which of the following is ¢

(1) A company can be classified ' N
(2) A company can never be classified as Not Ordinary R'eSIdflivith . .
(3) A company can be classified as Not Ordinary Residen € permission frop

Ministry of Finance. . _ _— o
(4) A company can be classified as Not Ordinary Resident With the permission from

Ministry of Commerce.

Mﬁgwm%%ﬁﬁﬁwﬁ@ﬁﬁﬁaﬁﬁm qeTe ?
(l)qaszﬁﬁaﬁwwﬁawﬁaﬁ%@
(2)@Mﬁmﬂsﬂwﬁa@%@
(3) frq HoE @ TR & T HUA B AR

34T S geaT B |
' fra & &9 § Tiea w8

As per section 44 AB, tax audit is compulsory in case a person carrying on a profession

whose turnover exceeds :
(1) 10 Lakhs (2) 50 Lakhs

(3) 1 Crore (4) 5 Crore
WM@,%W,aﬁﬁ%aﬁa@&ﬁﬁ%, Riqepr dalay § o1 &,

ar g offee tfHart @
(1) 10 @ (2) 50 @R
3) 1%z @) 5 T

100. X is entitled to transport allowance of Rs. 1,800 p.m. for commuti is resi
. ) Jn. uti d to
his office and back, he spends Rs. 1,400 p.m. The exemption shanli,ge f;ﬁglwfs f;;s;l e

(1) Rs. 1,800 p.m. (2) Rs. 1,400 p.m.
(3) Rs. 1,600 p.m. (4) Nil

X 1,800 €99 qRRaes 91 BT BB
%1,400@@#%%1@@%@?'“@WW3®W@%W

(1) 1,800 93 Ui ATE (2) 1,400 59
; gfer
(3) 1,600 598 ufer 918 (4) {B e e
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1
1. The financial institutions have major say in which of the following corporate governance
models ?
(1) Japanese Model (2) Anglo-American Model
(3) German Model (4) Indian Model

Wﬁﬁmmmﬁaﬁﬁﬁﬁﬁmmﬁﬁm%ﬁ
?

(1) STl Hisd (2) G- Hisd

(3) wHe AT (4) AR AT

Which of the following is not an individual method of performance approval ?
(1) 360 Degree Appraisal (2) Management by Objectives

(3) Behaviourally Anchored rating Scale(4) Check list Method

Rreiifad & @ SF-a1 wae oTgHIeT 1 U ke aiwl 7§ 7
(1) 360 f&31 geient (2) IpLAT ® R TITA

(3) TaER® &9 4 ihd I \a (@) I% T [

. Which of the following theorics of labour welfare believes that workers are becoming

more and more aware of their rights and welfare measures can appcasc them ?
(1) Philanthropic theory (2) Placating theory
(3) Public relations theory (4) Functional theory

ww%ﬁwﬁﬁﬁﬂﬁﬁﬁﬂm%@ﬁqﬁm%ﬁﬁmaﬁaﬂmﬁ%
ﬁﬁmﬁmma@%mmmﬁgﬂmm
g7

(1) IR s (2) <epien =
(3) ST REr (4) HERAD =TT

.................. is a type of option in foreign exchange market which provides the holder
the right to purchase or sell foreign currency at the most favourable exchange rate realized
over the life of the option.

(1) Forward reversing option (2) Preference option

(3) Look-back option (4) Basket option

................ ﬁ%ﬁgﬂaﬁﬁﬁ@wmm%sﬁmwaﬁ%m%
WWWWWKTWWW@WWWWWW
Tl B |

(1) wag RafT fawe (2) adiman e
(3) -9 T (4) arEpe e
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5. "4R's 'Stra.tegy of Government is undertaken to reduce and recognize NPA accounts with
reduction in total bad debts." 4R's in the statement is nof referring 10 :
(1) Recognition (2) Recitation
(3) Recapitalization (4) Reforms
mi%fwiamﬁﬁammﬁm%mmm‘ﬁﬁ
HA Wﬂ%ﬁmg@a&ﬂé%l"wﬁmaﬁﬁzﬁaﬁ%:
(1) == (2) g@T Ue

(3) gz YT (4) gER

6. Which of the following is not the feature of OTCEI ?
(1) Quick transfer and disposal system (2) Nationalized computerized networking
(3) Ring-less trading system (4) Fragmentation of regional stock exchange

Fpfefae & & @ OTCEL S fafvar 787 & 7
(I)WW@TWW(Z)WWW

(3) Re-ae ofE R (4) g @i TEEs @l e

7. ‘Which of the following is characterizes the early stage financial crises ?

(1) Falling prices of residential properties.
(2) Excessive euphoria about the future prices of certain assets.

(3) Excessive pessimism about future assets price.

(4) Stagnating sharc prices.
Ppfeiad § & @i IR axoT & A Hee @i fateEr © 7

speculator being dominant in the

arly for the situation when
s selling it

g. What is the term used popul :
market, expects a drop in the valuc of particular currency and he begin
forward ?
(2) Bandwagon effect

(1) International fisher effect
(4) Relative version effect

(3) Intcrest rate parity a -
: ot o ferm @redd B9 EAS LI 1 1A
3g fer . .‘,«m fqﬁqg%asg@ﬂﬁmﬂeaﬁzmﬁﬁmnﬁamm

(1) sfaRisiE fHaT 9 (2) dzArT UHE
3) (4) AT AEHTI THIE

e vE20020Commerce)(SET-X)/(B)
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9. Which of the following statement is wrong with respect to Euro Notes ?
(1) Euro notes are like PNs for obtaining short term funds.
(2) Euro notes are legal tenders in the form of a banknotc.
(3) These are denominated in the currency of the country where they are issucd.
(4) Represents low cost funding route.
T AR B dau § Frakiiad § § -1 FEE R 87
(1) 2 <ie oy MRy ura e ® e PNs @1 a3e & |
(2) T AiE % ¥% Al B &9 F HrgA HiEe #
(3) W%ﬂﬁqﬁi;ﬁtg@aﬁfaaﬁ - STeT ove I feman ST B
(4) HF AFE I gt 7T 1 SfReE B B

10. The linear relation between the excess return on individual securitics and overall market
at every point i time is known as :

(1) Capital Market Line (2) Security Market Line
(3) Security Characteristic Line (4) Market Specification Bias

U THY UX SARRET iegiREl SR g i) q SireRy e @ die e
q999 & 9 H ST S 8

(1) 971 9T ¥Em (2) G&W T &
(3) GL& [Euar @ 4) IR [imear gaive

11. What are the components of holistic marketing concept ?
(a) Relationship Marketing
(b) Integrating Marketing
(¢) Internal Marketing
(d) Performance Marketing
(e) Socially responsible marketing
(f) Brand Marketing

(1) a,b,c, f (2) a,b,c,d, ¢
(3) a,b,c,e 4) a,c,d, f
57 {Uos SFgEIOT & ged a1 € 7

(a) Hay faaus

(b) ARSI &I THIF HEAT

(c) At fagor

(d) weef R

(¢) HISEE #g @ g fagus

(H =iz Bave

(1) a,b,c,f (2) a,b,c,d, ¢
(3) a.b,c,c (4) a, ¢, d,

PHD/URS-EE-2022/(Co mmerce )(SET-X)/(B) P.T.0.
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r ~f1 . j 1 ?
12. Which of the following is not a dimension of T ransactlor.lal Leadership
(1) Contingent Rewards (2) LalSSf.:Z—FaII‘C
(3) Active management by Exception  (4) Planning for long tcrm

Prefefad § @ B a3 o @1 A 7@ 8 7
) (2) STERET

(1) ITBRTH YT :
(3) STUETE EWRT Al e (4) <<t orafer & frg AT Gl

What is the meaning of 'Refreezing' under Kurt Lewin's Model of Organization's Change

13.
process ?
(1) Strengthening and making new assignments, technologies and relations.
(2) Itis a process by which people are made to realize the need for change.
(3) It involves taking action to modify a situation by changing people, task, structure and
technology of the organization.
(4) None of the above
HE ART B TN FH qEaT UBRaT B Hisw B dea TORRET @ ¥ ol ' 7
(1) T R, WEnNfiedl ok el & a9 T A Joigd BT |
(2) a8 wsp Ul ufkar B R @RT @Rl @l 9igds @i STETedl BT TEE
HET ST B | -
(3) sEF ies @ Wil )T B, H@YEET oI MENEl ® geade] (R @i
GLMRIT B B [T HRAG HIAT A 8 |
(4) SURiERT H & DI A8I
14. Which of the following organization has utmost mutual understanding and is suitable for
a dynamic environment ?
(1) Free-form organization (2) Virtual organization
(3) Network organization (4) Horizontal organization
Frafefag # 8 HF-A1 G689 ARG URERE 995 WEr ol ahieie
arETeT & i Suged g 7
(1) W-%H e (2) MIRit Hew
(3) Hegw " (4) AT Hew
15. Which of the following approaches of perfomance based payment deals with both the

amount of increase in pay and period of review ?

(1) The merit approach (2) The informal approach

(3) The automatic approach (4) The single-rate approach

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)
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Ty omeRa W & Frefiied # @ @w-ar gitedior daw 7 gie @i
A wefen @1 oy AT ¥ Halta 7

(1) AFan SR (2) orhu=ie gitamion
(3) wrenfer gieanior (4) TEeI-aT Gfteehior
16. Who coined the term Total Quality Management ?
(1) Herzberg (2) Edward Deming
(3) Kurt Lewin (4) McGregor
B oI Y9EH S e Ter ?
(1) sfart (2) weas ST
(3) ®E @A 4) AHIR
17.  Which of the following refers to increasing fluctuations in inventory as a result of change
in the customer demand ?
(1) Bullwhip Effect (2) Safety Stock
(3) Enterprise Resource Planning (4) None of the above
Frefafea & @ @9 Jed & A5PT § gead & IROEEEd 3l 3 asd Sak-
TSI HalHd HIar 8 ¢
(1) IgsH a9 (2) GI&T W3R
(3) = HErEed Fie (4) SRR | F Hig AL
18.

The theories that explain the formation of 'Informal Groups' are to include which of the
following ?

(a) Propinquity Theory (b) Similarity or Balance Theory

(c) Displacement Theory (d) Need for Achievement Theory

(1) only (a)and (d) (2) only (a) and (b)

(3) only (a), (b} and (c) (4) (a), (b), (¢) and (d)

‘STIERE FEY B Mo @ e B AW R § Reeilad § @ 6
A BT B 7

(a) rpeen R (b) THEAT AT G R

(c) e Har (d) Iuwifen Rawr=r & aTaadd

(1) &t (a) 741 () (2) B (a) T (b)

(3) FAW (a), (b) 3T (c) (4) (a), (b), (c) ST (d)

PHD/URS-EE-2022/(Commerce)(SET-X)/(B) P.T.O.
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specific employees or group

6
19. In which of the payment of bonus is Jinked to performance of
of employces ? '
(a) Profit sharing plan (b) Gain sharing plan
(c) Social system plan
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) (a), (b)and (c) )
% ueee d JS1

z 7
(a) "ffthe QM HIH HI Tl (b) 79 FEAT B Bl AR
(¢) AT el a1 )

(2) ZB. g (b)

(1) %ad (a) )
(3) (a) AT (b) EFT (4) (a), (b) A (c)

20. Attributes or benefits that consumers strongly associate with a brand, positively evaluate
and believe they could not find the same extent with the competitive brand is known as :
(1) Competitive Points-of-parity (2) Relational Points-of-parity
(3) Correlational Points-of-parity (4) Points-of-difference

qﬁg‘nmmﬁ%mﬁmﬁm%mmaﬁﬁﬁ%ww
g% &, I F41 FBT I8 7

(1) ufereae 3% 1 Farar (2) Rl d9ige oife IR

(3) FEEdd fHg-gamar (4) 3% & A<

21.  As per the Gordon Model, in which situation dividend theory becomes irrelevant ?

(1) When retention ratio declines
(2) When rate of return is equal to cost of capital
(3) When dividend pay-out is zero

(4) When the rate of return is higher than the cost of capital
MET Az % AYAR, B9 fafa 9 e e surifes 8 spar 87

(1) 5/ FEaron Fad § FfrmEe a1 2
(2) 519 gt $1 &7 Gofl @ arE F 9UE? e 3

(3) 5@ @rAie PEE GA B
(4) 5/ qadl F1 a7 T B ara § Alus B

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)
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22.

24.

PHIVURS-EE-2022/(Commerce  SET-X)/(B)

Production function is not based on the assumption of the :

(1) Substitutability of inputs (2) Complementarily of inputs
(3) Marketability of products (4) Specificity of inputs
U e @ AR 9 aEia 78 ®

(1) g2 ! AREgs &l (2) 5998 1 FLHA

(3) It & YU aTHl (4) e @1 fafgren

A monopolist always operates in the :
(1) Inelastic segment of demand curve
(2) Elastic segment of demand curve

(3) Unitary elastic segment of demand curve
(4) None of the above

U UHITHRAE] sq9n ¥ & HIal B
(1) |71 9% & Jarger G

(2) BT g% B AEER T3

(3) "1 g% FT UHEE e TS
(@) e § | FiE FE

The inverse relationship between variations in the price and quantity demanded is not due
to:

(1) Income effect (2) Substitution cffect

(3) Future expectations (4) Law of diminishing marginal utility

e afe 5o # wEn # e @ 9| Fopn g9 s o a8 ' 7
(1) 3@ o999 (2) gferEa= adqE

(3) wiqwy @ I (4) AT Fii Suaien @ Fras

Find the marginal revenue of a firm that sells a product at a price of Rs. 10 and the price
clasticity of demand for the product is -2 :

(1) Rs.5 (2) Rs. 10

{(3) Rs. 30 (4) Rs. 15

0% Wf_ T AT 7T E ERT A o 10 599 @ A a7 I Guar ® ool
FaE o AT A e dm 28

() 5594 (2) 10 &7
(3) 30 595 (4) 15 &1

P. 10,
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onopoly to cause social welfare loss is often
3

26. Sub-optimal allocation of resources under m

termed as : _
(2) Allocation drift

(1) Deadweight loss

(3) Monopoly loss (4) Opportunity loss
THRER & qed qEISEs Hedrel B JHAT Bl T
Tedy eTded P TR HBT T[T & -

T g garEl B 39

(1) Ssde @\ (2) eTEes S8
(3) THIAHR Bl (@) STETY BT

27. Which of the following is first order condition to maximise profit ?
(1) TR-TC |
(2) MR=MC

(3) MR cuts MC from below
(4) Slope of MC curve must be higher than that of MR curve
AT Y R O B R Rt § @ B ge TR a8 7

(1) & X -8 =i

(2) TH AR =ux 4G

(3) MRT MC@I A § @i &ar

(4) MC @3 =7 oo MR % & I1ERR &1 =Ry

28. The "Dominant firm model" is an oligopoly model, which is also known as :

(1) Bertrand Model (2) Stackelberg Model
(3) Cournot Model (4) Kinked Model
(1) ags Az (2) Webwert Hisw
(3) ®rEAe Az (4) fpas dtsa
29. Excess capacity is not noticed in which of the following market conditions ?
(1) Monopoly (2) Monopolistic Competition |
(3) Oligopoly (4) Perfect Competition
ey | A fag g @ fedfa o sfefa v soft el oy B 0
(1) owiiasr (2) UeREEpTT Ui |
(3) aremieETe (4) gt ufyaiteren

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)
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30. For which of the distributions Mean and Median are cqual ?
(a) Binomial Distribution (by Poisson Distribution
(c) Exponential Distribution (d) Normal Distribution
(1) only (a) (2) only (b)
(3) only (a) and (¢) (4) only (b) and (d)
Rrg dew @ fw Treg o) Aiftasl g § 7

(a) fEge Raor (b) @rFe faa=eT
(c) =™ faaet (d) IETa feaeT
(1) Bae () (2) @ae (b)

(3) Had (a) T (c) (4) daa (b) = (d)

31. Which of the following is not one of the Fundamental Accounting Assumptions ?

(1) Going concern (2) Consistency

(3) Accrual (4) Conservatism
Frefeiag § § 99 Giferes a@ied oen § § 9% 787 2 7
(1) gaa™ == (2) G

(3) WiEa= 4) sieag

32. Social Balance Sheet shows :
(1) Social costs
(2) Social revenues
(3) Value of employees of the organization
(4) All of the above
qAEITE o9 diie kEmr g -
(1) 9HISTH ARTT (2) QHEINTS TS
(3) §eH & FHHAAT H A (4) SUERT g

33. If the overhead cost is expected to increase if the new project is implemented, then while
calculating cost of capital

(1) Whole overheads cosi needs to be considered.
(2) It will be ignored.

(3) Only incremental overhead will be considered.
(4) Only incremental overhead will be i gnored.

- PHD/URS-EE-2022/(Commerce)(SET-X)/(B) P.T.0
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a :ﬁ = ’ ﬁ m
]G - i’ - q aﬂ 4 (’ ¢ ¢

qfg vi’i‘f QiR q"{ﬂ[‘ 1+ O¥ Em? NN E i' T
: cﬁa—{g—- | G | Bl e creeisy g |
(hH E‘.T'f 3 ¥ @ q¥ a9 @

(2) §8 soRafEreT HY A S| - l
(3) Baw ghuehea IRy ] Wqﬁ ﬁ;”q L '
(1) B gRasia Suiterg WX e FE EAr S

i if i btis:
34. Capital gearing is higher if the proportion of de

i ual
(1) Lower (2) Higher (3) Indifferent (4) Eq
i - . % :
it Frafar st @ aft wor &1 oru
(1) &9 (2) IeErEr (3) e @) FTEd &

35.  Capital structure of business unit consists of :
(1) Equity and Preference share capital
(2) Equity, long term debt and short term loan
(3) Equity capital and debt capital
(4) Equity, preference and debt capital
(1) 5RO e d
(@) s, W= o wmr o gt o a
() s o ot ot o
4) si=E, TdTar ofk oy qoft

36. In which of the following situations, the payback period method is advised for ev
of investment opportunities ?

aluation
(a) Overleveraged business

(b) Cash rich business

(¢) Uncertain market conditions
(d) Stable market conditions
Choose the correct code :

(1) (@) and (b) only

(2) (@) and () only
(3) (b)and (c) only

4) (¢) ang (d) only

PHDfURS-EE-ZOZZI(Commerce)(SET-X)/(B)
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W@ﬂﬁ@%ﬁﬁ%ﬁﬁ%%@%%%%ﬂ@%eﬂh

iy 9 gae & SR S 7
(a) eTEtdEss faemy
(b) ihe TS HIA™
(c) erf=fRe amR &t Rl
(d) ReR aER Raft

TET HIs T ¢
(1) Baat (a) ST (b) (2) @ad (a) AR ()
(3) Baa (b) 3T (c) (4) B (c) 3R (d)
37. A sale and lease back arrangement is more suitable for lease having :
(1) Liquidity crisis (2) Surplus fund
(3) High profit (4) No profit or loss
ST @ e el ofiX ofist A sae oftss g B -
(1) IXaT dehe (2) TR e
(3) 3= @M (4) HE T T B ABI

38. Financial deepening refers to :
(1) Increase in the number of participants in the financial system

(2) Increase in the financial asset as a percentage of GDP
(3) Increase in credit creation

(4) Increase in lending by commercial banks

i Te=TaT @7 daiHa HIar B

(1) g ol 7 giraiEl & 9 J gl

(2) SIS & gfae % ®9 7 fFrig duRn o g
(3) =T goivd ¥ gi&

(4) aifeTRYgs o ET IOR A ghs

39. Match the following :
_ List -1 List - IT
A. The technique that is used in examining the effect of i. Hiller Model
change in cne variable at a time.
B. The process of developing the frequency distribution of net 1ii. Sensitivity Analysis

present value.
C. The technique that is used in examining the chances of net iii. Decision Trce

present value greater than zero.
D. The technique is used when investment in future is to be iv. Simulation
decided on the probable outcome of previous investment.

(l} A——fj.B-ii,C~iii,D—iv 2) A-i,B-iv,C -1, D ~iii
(3) A-iii, B~iv,C~i,D —ii 4) A-iv,B-i,C~ii, D~iii

PHD/URS-EE-2022/(Commerce)(SET-X)/(B) P.T.0.
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ryeferfeac @B gnfere o =
‘q?ﬁ -1 ai
s -, - b % i' bq‘
A e o mp e d wm e # aREd et ST

" - - . 2.
ey epl oiaror el B wEer b STl @ o -
- : g HE il SEEREIRCIREER Y
B. grg aetar ged @ A [gaeer el faspiée &
&1 ufaan
- o o adaE il o 9@
C. aqu e framn sua g | AEE IS

e Pl G 61 SirE 7 AT S g

T 2 3 Te iv. GEIS!
D. @i @ Sudm dd fEar omer oo waes H iv. R

Fragr foed Fragr & dwmfaa oo T g AT
ST 8 1
(2) A-ii,B—iv,C~i,D—iii

(1) A-1i,B~ii, C—iii, D -iv i
4 A-iv,B-1,C-1ii,D-1m

(3) A~iii, B—iv,C-i,D —~ii

40. According to CAPM, overpriced sccurities have :

(1) Zero betas (2) Negative betas
(3) Zero alphas (4) Ncgative alphas
ooy & orgar, offts Hme awnl afayglat § 8
(1) 9= el (2) THRTHE dleT
(3) T BT (4) THRAR TTHT
41. Which of the following docs not fall in the ambit of objectives of the Competition Act ?
(1) Encourage competition (2) Prevent abuse of dominant position
(3) Protect investors interest (4) Regulate mergers and acquisitions

Fr=tfeie & & @ gferered oftifem & SRedt & aeR § 72 omar & 7

(1) gfcregerl T graed B (2) wqE Ry & geqanr @ e

(3) Fraemst % Rl @ @ e @) e R oTREEY B Rifai s
42, If there is breach of conditions of contract by the seller ;

(1) Buyer can repudiate the contract

(2) Buyer is still bound by the contract

(3) Buyer can renegotiate the terms of the contract

4) Contr_act stands nullified

PHI)/URS-EE-ZOZZ/(Commerce)(SET-X)/(B)
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afr REaT ERT SREY @ IRl B Iewe [HAT SR ¥ -
(1) TEER STEE B B HY Tl &

(2) Thar ooy A orgdy & A ® :
(3) @R orgEe # gt 9X R q AR B EHAT &

(@) Srgee T 8 ST @
As per Section 80G, the maximum deduction allowed for any cash donation is up to :
(1) Rs. 1,000 (2) Rs. 2,000
(3) Rs. 5,000 (4) Rs, 10,000

 gRT 80 B AR, FHE f ThE T B RIQ STIEA SARERTH HER E
(1) 1,000 698 @H (2) 2,000 598 TH
(3) 5,000 9% T (4) 10,000 593

44. StatementI: Reduction of tax liability within the framework of law is tax planning.

Statement IT : Reduction of tax liability by utilizing the benefits of deduction available
under the Act is tax evasion.
(2) Only Statement I is correct.

(1) Both the Statements are correct.
(4) Both the Statements are incorrect.

(3) Only Statement II is correct.

FT [: B & 39 H AT B aa § B0 BT e 2
Fo I1: AEFER & g8 Sqae FHeRll B ¥l & SUUNT BB HT Sy F

| Bl HL =R B
(1) SHT o e T (2) BId FHET [T B
(3) @ Foe |t &1 (4) ST e T ¥
45. A trader buying timber under a forest lease via auction is liable to pay :
(I) TCS (2) TDS
(3) Income tax (4) Forest Excise Duty

A B e F U @ B dwd sARd) :
3 R weREr ® - THE T AT S e B
ORI (2) & 2 ug

For i | (4) 7 S g

PHD/URS-EE-2022/(Commerce)(SET-X)/(B) . RTO
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Income Tax Act, deduction can be claimed on account of

" @ Sect Of the . .
46 Under Scction 31 ol n normal course of business.

o Pz s PoiH of plant and machinery used i
(1) Capital and Revenue Expenditure on Repairs
(2) Current Repairs
(3) Current repairs plus 1/7th of Capital Expenditurc
(4) None of these
10 X RC 2| L 1 , .
;gg}am;ﬂzgz;q;r mﬂBEﬁ 3 o7 FHEw @1 adT fhar S GRl gl
(1) \eger g3 it ol Terd 7
(2) aefar s
(3) achar e T Gofima eag 1 1741 BE
(4) s I w8
47. The perquisite valuc of cducation facility provided by the employer to the children of
cmployee is nil if :
(1) The cost of education per child doesn't exceed Rs. 1,000/month.
(2) The cost of education per child doesn't exceed Rs. 2,000/month.
(3) The cost of education per child doesn't exceed Rs. 3,000/month.
(4) The cost of cducation per child doesn't exceed Rs. 4,000/month.

m?qgnmm%aﬁﬁmﬁmmmngﬁwwmw
g X !

(1) ufer == farem 1 @r 599 1000/A1® § oIfers T80 &1

() ufer T=2 fEm & are 93 20009 9 IR 4

(3) ufer a=a T @ ara S92 3000/9E 9 o1k w8 &)

(4) ufer a=3 faren 1 WP 9L 4000/ | s wE

48. Which of the following is correct about the residential status of a Company ?
(1) A company can be classified as Not Ordinary Resident.
(2) A company can never be classified as Not Ordinary Resident.

(3) A company can be classified as Not Ordinary Resident with the permission from

~ Ministry of Finance. ‘

(4) A company can be classified as Not Ordinary Resident with the permission from
Ministry of Commerce. Y

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)



S0 @ T Refy B ar 7 FrafaRed § 9 @ @7 e 7
(l)qesa%mﬁaﬁmmﬁmzﬁ#ﬁ%mﬁaﬁﬁﬁmmm%l
(2)@a%q=ﬁa%aﬁvﬂﬁrwnwﬁarzﬁ%mﬁwﬁqmqﬁﬁmmm%a
(m%%ﬁ;yﬁr@@m#mmwﬁa@ﬁ%mﬁmﬁ?ﬂ
ST el 8 |
(4)%%@@%%@%@@%@%@@%@#%3@
faa T HeherT B

49. As per section 44 AB, tax audit is compulsory in case a person carrying on a profession
whose turnover exceeds :
(1) 10 Lakhs 2) 50 Lakhs
(3) 1 Crore (4) 5 Crore
gqrRT 44 T, %aﬁmr,aﬁaﬁéwﬁﬁﬁﬁ&ﬁﬁ%,ﬁwaﬁwam%
a1 o oifise oifand € -
(D) 10TmE (2) 50 @ =
3) 1503 @ 5 ST
50. X is entitled to transport allowance of Rs. 1,800 p.m. for commuting from his residence to
his office and back, he spends Rs. 1,400 p.m. The exemption shall be allowed of :
(1) Rs. 1,800 p.m. (2) Rs. 1,400 p.m.
(3) Rs. 1,600 p.m. (4) Nil

X 1,800 599 g9 ¥ HT gHER & 301 A § sEad a6 AN STH @ e
g8 1,400 598 @ HAT 8|1 g Bl IgART & S

(1) 1,800 93 "ier AE (2) 1,400 598 dia HE
(3) 1,600 59Y gfer A8 (4) |/B TE

51. SERVQUAL Model of service quality consists of five dimensions. Which of the
following is not dimension of SERVQUAL ?

(1) Empathy (2) Tangibles (3) Consistency  (4) Responsiveness

g1 EEEn $ Fa1 Higd § dta oM B B = @ B SERVQUAL @
oA T8 B 7

(1) gerggia (2) et (3) drn (4) STETEags!

52. According to which of the following decision making approaches, a manager picks up a
course of action that is satisfactory or good enough under the circumstances ?
(1) The Behavioural Approach (2) The Bounded Rationality Approach
(3) The Garbage Can Approach (4) The Cooperative Social System Approach

; PHD/URS-EE-2022/(Commerce)(SET-X)/(B) P.T. Q.
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W@ﬁ*ﬁmﬁﬁqéﬁ%ﬁzﬁm%G‘fﬁq'(f?@“"”Q_{:ﬁ t
mm%ﬁqﬁ@ﬁﬁﬁqﬁw%mmg‘r:

(1) HaeR greehi (2) et gF aehETad

~ (4)amﬂwﬁwwmm

uch that it influences nearly everything a

One trait that dominates the personality so m

person does, is @ :

(1) Global trait (2) Specific trait

(3) Cardinal trait (4) Central trait
W%ﬁlﬁﬁﬁ%ﬁ?ﬁl’lﬂ‘lﬁaﬁiﬁﬁﬁ

The Johari Window of interpersonal behaviour has 4 Quadrants. Which one of them
represents what is unknown by the person about themselves but is known by others ?

(1) Open self (2) Unknown self

(3) Blind area (4) Hidden arca
Wwﬁﬁ@mﬁ4a§ﬁmaﬁﬁlwﬁéﬁqw%w

mﬁm%vﬁmaﬁaﬁﬁmﬁ%?ﬁ%ﬂ@ﬁ%mmm

Fo

g7

(1) &= q¢h (2) eTFF ATh

(3) @mETE oAl OREERUE

Which of the following is not a basic function of 'Scanlon Plan’ 7

(1) Philosophy of competition (2) Identity

(3) Competence (4) Involvement system

e & & B e @ B ga B 78 87

(1) uferdmT & a2 (2) gBE™

(3) AFEAT (4) arferl goTEd

Identify the pricing strategy where the mark-up is inverse to the elasticity of demand
(1) Shadow pricing (2) Skimming

(3} Pcnﬁfmtion pricing | (4) Ramsey pricing

geg ficor ToFfife @1 BEE wY ST A9 "R A e @ Rrad R
(1) grn gea Frafer (2) Fepftin R
(3) gAY g et 4) ™3 ey ferateoy

PHD/URS-EE-2022/(Commerce (SET-X)/(B)
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57. Which of the following statements defines boundary spanning ?

(1) It refers to obligation of an individual, firm or institutior. to account for its activitics
and accept responsibility for them.

(2) Itrefers to the process that helps the organization and its employees to link with their
external environment through specific activities/functions.

(3) Itrefers to the science of morals, principles and rules of conduct.
((4) Itrefers to the multiculturism management.
FrfiRad & | Se-a1 Fa9 9 R By g ST &7

(D a7 & =, w4 a1 9@ 3 g & Sgw TannEl $ e SrEEr
SELIT 8 SR 9% fiw Rrded w@ier T 21

(2) 98 39 "ishar w1 daiiq w3ar & S e 9K I HHEniE % s
TIAREY/E™T & Ay § 39+ aed gaEeT § S5S # Ag & B |

(3) =& AR, Rsrt ok oTerRer & Fet 3 fasme @ g ST B

(4) I8 IgEpEE YEEN Bl Heia Hear B

58. The model of decision support where there is recommendation of the type of
advertisement with humorous and 'slice of life' kinds of appeals to use for given
marketing goals and characteristics of products, target market and competitive situations

is known as :
(1) MEDICAD (2) PROMOTOR
(3) ADCAD (4) COVERSTORY

& RAEiRer @ SR B, Ru u R{uom @l oIR S.El & Rigaret, e
FoTR 3N Uicreael! Rafaal & T Swrr 5 ST Tl 4 & ©9 & ST ST
2
(1) Afs®HS (2) THeX

(3) TSHEITET (4) HIT

59. Work measurement refers to :
(1) The length of time it takes to complete the work assigned to a particular job
(2) Improving working methods
(3) Arrangement of machines according to operations
(4) Planning the work and working for plans
B HIGA HI HEHd HET & ¢
(1) Frefl B9t @ 1 9 T B O B @ A 99a
(@) W FT F b F guR
(3) HERM & STHI AAT @ e
(4) S H TSN G AR AEAHAT & QB HE

PHD/URS-EE-2022/(Commerce)(SET-X)/(B) P.T.O.
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62.

B

is defined as dispute between parties submitted and decide by a neutral

..................

third party. . .
(1) Collective bargaining (2) Affirmation Action

O A e e g o P 97 and it & 1 o
3 wq o it Rear mar R
@ gie FHREE!

(1) argfes Qs

(3) HeIERR (4) e

Marginal equity funds are alternatively known as :

(1) Gilt Funds (2) Index Funds

(3) Hybrid Funds (4) Balanced Funds

i SRS wew H Jhieas w9 G SET ST B

(1) Fre wzH (2) 29 ®H3H

(3) EERIE w3d @) s wH

Reverse repo rate is a tool used by RBI primarily to :

(1) Inject liquidity (2) Absorb liquidity

(3) Protect bank credit (4) Build reserve

ga#ﬁﬁamzﬁaﬁmg@mﬁwmwﬁ IRI UH  IUHIOT

(1) S faRasd R ICRRIEEIES]

(3) UIFe g% Wise @) s Reet

ICICI was established in 1955 by an initiative of :

(1) Reserve Bank of India (2) World Bank

(3) International Monetary Fund (4) Industrial Financial Corporation of Inida

o 1 I I ST B TAAT 19557 FHuht qew | g o ?

(1) s R 9 2) g S

(3) IFAITET HET B (4) I e ol Prm

Assertion (A) : Commercial Papers are issucd by the reputed companies in the market for
a short period. ‘

Reason (R) : Commercial Papers are unsecured promiss s having short :
fixed maturity. promussory notes having short and

(1) Reason (R) is true, Assertion (A) is false.

(2) Assertion (A) is true, Reason (R) is falsc.

3) Igﬁg%gﬁ;&l% )('A) and Reason (R) is true, but Reason (R) is not correct explanation

(4) gggfelnfl\(s';e&;m (A) and Reason (R) is truc and Reason (R) is correct explanation of

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)
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B
HHET (A) : Wﬁgﬁmmmm%mmwm
B |

T (R) FRiae qux e ofX FifRem afRudedr awt TR a=T 9=
!

(1) ®T(R) 9 8, At (A) Td 2 |

(2) Sf¥pE (A) g B, HROT (R) o B |

3) WA%@TW(R)MHW%,@WW(R)W(A)Q%H@
TE] |

(4)8ﬁ$q§(A)aﬂTW(R)aﬁw%a?RW(R)a¢mW (A) & GE
UTET |

65. Statement I : FDI is known as hot money.
Statement II : Participatory notes are associated with Foreign Institutional Investors.
(1) Statement I is correct, Statement II is incorrect.
(2) Statement I is incorrect, Statement 11 is correct.
(3) Both Statements are correct.
(4) Both Statements are incorrect.
%Y 1:FDI &l &fc O+ % ©9 | ST il 8 |
HIT IL: geurl e RRl dwewe MR € 53 21
(1) 99 1981 B, oM Lo 81 (2) %9 1770a 8, $oF N EE 2
(3) T FF GEl 2| (4) TET FIF TEA B

The system of collective bargaining as a method of settlement of industrial dispute has

%. been adopted and previded under :
(1) The Industrial Disputes Act, 1947
(2) The Trade Unions Act, 1926
(3) The Industrial Employment (Standing Orders) Act, 1946
(4) The Taft-Hartley Act, 1947
SNEies ae ® Muer & B & 7 9 ares aRant @ SOl S STl
T B Sl 5% ded e fRAr T @
(1) ofenfies RamE stEf~EH, 1947
(2) g5 gFra= SAfaf=Em, 1926
(3) oNENfs TerIR (TRl ereer) ST, 1946
(4) Toe-Brew SiHIH, 1947
67. Which is the main governing body that deals with the matters related to EXIM policy ?
(1) Commercial Banks (2) SEBI
(3) DGFT 4) RBI
afre Hifa 9 ddfoa amat § Foes arn ger enee M e 8 2
(1) TS 96 (2) g
(3) £ S Tw & (4) &R 6 o

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)
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]gcn('j’ "g(l'd!niq < S

of consumer right violation ? o
(1) National Consumer Protection Organization

(2) Central Consumer Protection Authority

(3) Union Consumer Protection Agency

4) National Authority for Consumer Protection | Ry
gﬁ%%ﬁw%m%mﬁ%ﬁﬁaﬁﬁwﬁf@ﬁﬁﬁfﬁﬁum ]
® &g 7 Fyged fear mar ® 7 . ~

(1) T TR GYET A (2) DR eq-ﬁnafrr LT EI'H?Z[EPT(UTmr

(3) HE ITHERT AT Tl (4) gueirET i@ & [ T ANEHRT
What does protest means as per Scction 100 of Negotiable Instruments Act ?

69.
(1) The defaulting of payment instrument by the drawee in order to prevent payment to

drawer.
(2) The process of freezing the payment instrument by the drawer owing to its failurc

being brought before the due date.
(3) A certification by a notary public of dishonour by non-acceptance or non-payment on
the request of the holder within a reasonable time.

(4) None of the above

qehrd e StffaE @ O 1003 STgER e &y o1 8 7

(1) STEIVERAT ®I G A & [ 3fEThal ERT Gar foe § g6 H |

(2) FF rad & A% 89 & SR 39 e [ 9 usd ST S B aiERaT |

(3) tk T FIT B WK ORF B RY W IR-EHE A1 IR-TaE 2w/
AR & AR i ERT THOEI0T

(4) I9TFT H | HIE T8

Which of the following policy has lost its sheen consequent to the implementation of the

70.
GST law in India ?
(1) Monetary Policy (2) Fiscal Policy
(3) Trade Policy (4) Exim Policy

Fr=ifofrd & @ fpd =i 9 wRa d it of & S & st $ aRomreasy
o THE @ 1 B 7

(1) Hifges g (2) TSR Hif
(3) =TT Hifer (4) ufgr <fify

71. A distnibution where the value of arithmetic mean is maximum as compared to median

and mode, Is :
(I) Normal Distribution (2) Positively Skewed Distribution
(3) Negatively Skewed Distribution (4) None of the above

PHD/URS-EE-2022/(Commerce)(SET-X)/(B)
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@ma_ﬁmm' (3 2t G T T
BT R, gm D . AN ages @ qoe ¥ siEerim T s A afererers

(1) 9M=r fReoy (2) GBS @ I Fum e
) TERTHF g | ey fyercor (4) TIRT F F B St

72. The power of test is denoted by :

(1) Alpha (2) Beta (3) 1-Alpha (4) 1-Beta

T B AT SRT Frefre Rear omer 2 -

(1) o1e®1 (2) et (3) 1-3TTHT (4) 1-deT
73. Process of arranging data in new order is called :

(1) Manipulation of data (2) Standardization of data

(3) Sequencing of data (4) Standardized input

ST B AT B F yafterm e o) b sear §

(1) 3T FT BIGT (2) ST =BT HTHPEBIIT

(3) <1 Wl STIHH (4) ARIFT FTYS

74.  Analysis of variance is a technique used :
(1) To test the homogencity of several variances.
(2) To test the homogeneity of two variances.
(3) To test the homogeneity of several means.
(4) To test the homogeneity of two means.
TEXOT BT [IIATOT Wb qebeiieh BT ITANT AT ST B .eeen, :
(1) =3 FF=arell & UHEIar $l T80T 61 B U |
(2) ST THION B THSGAT H1 T FHH B [T
(3) % ARFI H THSIAl HI TU0T HH b [T |
(4) & GrEFET B THBAAT BT TURTT B B /)

75. Select the incorrect statement out of the following regarding correlation and regression :
(1) Correlation is thec movement between two variables and is symmetric in nature.
(2) Regression establishes functional rclationship between two variables.
(3) Correlation studies linear and non-lincar relationship between variables.
(4) Regression aims to find dependent variable.
e ol ufrTEE B Gy § Rreried § @ 707 BeE B R Bl
(1) Tees & = B e 1 R ¥ ol s A R ¥
(2)%%@%%%@@%@@?{%%: :
(3) gagey =l & 9 Waw TR U dede B g B @)
(4) URFTEE BT 329T AN T H O B |
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78.

79.

80.

B

mean deviation about mean and

An cmpirical relationship between standard deviation,

quartile is : B
(1) 4SD=6MD =5 QD (2)4sD=5MD-2Qg
(3) 6SD=5MD=4QD 4) 5SD=4MD=6QD . |
Wﬁa‘m,mﬁwaﬁta@m%fﬂ?a@?:;;é
) 4uq S =60" =57 I (2) 4ug 3= =

® - @) 5TE S=47F T=6FL =

(3) 6Tq =5t =47 I

If 2 random variable x follows chi-square distribution with 3 degree of freed
mode of x is :

om, then the

1o 2) 1 (3) 2 43

I ©F ARRBF =X 1 3 A OIS A HE-EEAEL FACeT BT B
g, dl x % 9ga% © :

ORY 2 1 (3) 2 @) 3

Which of the following sampling scheme has no prior fixing of the number of observation

to choose ?
(1) Snowball (2) Inverse (3) Stratified (4) Multistage

Frafafag & 9 BF 901 9o § g9 $ e siEare @ |eE @ BiE 99
FeiRor 787 & 7
(1) Fata (2) z9ad H (3) BfewEs (4) sgwig

Which of the following type of sampling can be in the absence of proper sampling
frame ?

(1) Simple random sampling with replacement
(2) Simple random sampling without replacement
(3) Stratified random sampling

(4) Systematic sampling

IR G=feiT 59 % o F B 9 Y 9HR T THEEeT B gwar © 7
(1) wicreeasl % ™ 93 IRRB8S TYATHIOT

(2) SfREGAT & =T 930 qIgiess TR0

. (3) WHd Iefes® FYATHT

(4) =TaiRe TYATBLOT

Netflix is a classic example of :

(1) Skimming pricing (2) Value based pricing

(3) Penetration pricing (4) Cost plus pricing

ERRTRT §HHI Uh IH< IS8T 2

(1) R geg Freior (2) JE-seiE WS

(3) afTge™ geF Mt (4) I |/ s oy Pty
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8. T}w cos‘t :mfn‘lg. out of the lailure of the customers to meet their obligations when
p.ly.mcnt on ch.cht sales become due after the expiry of which the credit period, may be
attributed to which of the following ?

(1) Collection Cost (2) Default Cost

(3) Delinquency Cost (4) Attrition Cost

mise & RS P il i =
W YTE 39 8 o 2, Rrel Bite omiR g 2 B 9w,

FARET | | S Re Reier sear stogedr 7

(D) d7e arm 2) Bwie e
(3) STUT FWT (4) ufes™ @Fr
82. Improvement in PV ratio can be done by :
(1) Increasing selling price (2) Altering sales mixture
(3) Reducing variable cost (4) All of the above
PV oTguId & goR 5Es =10 fBar s oaebar & 7
(1) f=hl geg gemT (2) TE=61 [T gaa

(3) gRE<i<iT PR hl HH HIAT (4) ST g

83. 'Which one of the following is not among the assumptions of the MM Model ?

(1) Perfect capital market

(2) Equivalent risk classes

(3) Unity for dividend pay-out ratio

(4) Absence of taxes

frsfaRaa § @ @9 THATH A H ARGt § 9 T8 € 7

(1) S8 goil g
(2) Faged e &t
(3)@1%%3@13%%‘1%
(4) B B SrgarERt

84. From investor's point of view, the cost of capital is :
(1) Interest rate (2) Market value
(3) Yicld of capital structure (4) Stock cxchange value
Fidgrs @ gftespior A, 9ot @1 @Rl 8
(1) =31 8¢ (2) 9T e
(3) st gy & Ias (4) Wies UETES Yo
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es in the ration 4 :3:2. They

85. A, B and C are partners in a firm sharing profits :'md loss Ytat i their new proft
agreed to take D into the partnership and gave him 1/8 share.

sharing ratio ?
(D 4:3:2:1 (2) 28:21:14:9

12114 :1:2:1 .
(3) 28:21:14:8 ) 4:1 e R B 13D

A, BT Cum % § gdier & o 4:3:23 Jrgu F
ﬁq@?ﬁﬁéﬁ%ﬁﬂm‘gﬁ?@ﬁlmmmlmwmﬂ

FeaRT A9 FT 8 7
(1) 4:3:2:1

(3) 28:21:14:8
Which one of the following methods of Inflation Accounting has been proposed by
Sandilands Committee of U. K. ?

(1) General price level method
(3) Current cost accounting method (4) Generally accepted accounting principles

Jo o FH HdsH G TRT GRIEHI AQind B FrRIRET a4 H HiE-

q1 gwIeT 6T T g ?
(1) 99— g W) [ (2) AT goa =X O

(3) TEHM AR AE IS (4) TR X Wigd oal fgsida

87. Combined leverage can be used to measure the relationship between :
(1) Sales and EPS (2) PAT and EPS
(3) EBIT and EPS (4) Sales and EBIT
GgerT Il HI ITAFT $ A= GaE B AR B R Rear o g@@ar © o

(2) 28:21:14:9
4 4:1:2:1

86.

(2) Specific price level method

(1) fa=hr o diug (2) 9t iR gy
(3) EteTESl IR g9y @) fashr aiR e

When the foreign currency assets and liabilities match in terms of amount of exposure and
timing of maturities, it is described as :

(1) Financial hedge (2) Natural hedge

(3) Perfect hedge (4) Netting

St gl gE aiEuiE jam%ﬂmﬁw“rwm’tmzﬁl A M aftgemen & awd
# dod d A @l §, a1 59 59 ysK abl B smer &

(1) g a= e (2) urpie =g
(3) Tawger el T=g (4 e
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g9. If the EOQ for an item of inventory in a firm is 1000 units. The estimated demand for the
next year gets doubled, what shall be the revised EOQ next year, all the other relevant
cost remaining same ?

(1) 1000 ) 1414

(3) 2000 (4) None of the above

I O FHOF aR G B R awg @ dafe 1000 3HE B ov a¥ & fg
' gl

TR R, om af walfvw gl @ B, o Wl
TR @R S e B 7

(1) 1000 (2) 1414

(3) 2000 (4) I § q Hg AR
90. Market risk is also known as :

(1) Systematic or Diversifiable risk

(2) Unsystematic or Diversifiable risk

(3) Systematic or Non-Diversifiable risk

(4) Unsystematic or Non-Diversifiable risk

IR FRET B oo, ® B9 H A ST ST ©

(1) =gt g1 [fay Siay

(2) sregateaa a7 fafay SiRaH

(3) zxafEg a1 J-akg TS|

(4) sreratE T -y SieH
91. Balassa Index is often used as a tool to measure :

(1) Relative trade performance of individual countrics in particular commodities

(2) Comparative cost advantage of Nations

(3) Product life cycle of different commoditics

(4) Nationzl Competitive advantage
AT EReE Fl AFGT WA @ g U 3l & € 7 gapr fean onen B
ATHI 52

(1) fad awqgadt o arerm-srert o & W AN gegh
(2) T N GEAREE AR A

(3) fafsr grganl @1 Fum SiEe S

(4) T ufeegaters @
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o ic integration :
to the benefits and cost of economic integration

92. Match the list below relating
nd resources 1n

i a
Movement  of production

A. Trade creation i - B0 F
opposite directions:
ember country does not

_ i -
Become active when a er cour
y shifts 1tS imports from

augment export but simpl
Jow cost source to high cost source.

B. Trade diversion if.

C. Trade deflection i, Shifting the locus of production from high cost to
low cost production.

Goods produced in third country entering a free

D. Polarisation forces  iv.
trade arca through a member country having

lower tariffs.

Codes :
(1) A-ii,B—ii;,C—iv,D—i 2) A-ii,B-iv,C-3,D—-111
3) A-iii,B-1,C—iv,D—ii @ A-ii,B-11,C—1,D—-1v

onfefes wehieRReT & @ ofR @F | Fafta e €1 2 g B fHee w5 o
A. =R fFmfor i. IS IR AT & fAuda Ronedt § duaT |
B. @O A% i. AbhT a9 S BE wew W Gelw § ghs

A & afch 9N ST BT BT @FTT a1y 9

4 I R A A T EeiERe BT 29T B

C. =R f&eer iii. SURT B W B I AN Y By qErg a9

ST F RINART HT )

D. gHIBIoT a1 iv.m%amﬁwﬁaqmw%ﬁtﬁaﬁ 0

? & g TR &5 yeT et & |

HIS ¢
(1) A—ii,B-iii,C—iv,D-1i (2) s
» & =1, A-ii,B_; P
(3) A-iii, B~i, C~iv, D -ii s % kDl
’ — 11, —_i’D__iV

93. Domestic Tariff Area in India means :
(1) Any area outside SEZ

. (2) An
(3) Any special allocated area Y area exce

‘ (4) None of thege
PHD/URS-EE-Z!)ZZ/(Commerce)(SET-X)/(B)
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94.

95.

96.

97.
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AT WO R B gy g

(1) WIS & Ay By Gy (2) ren grEss uftEr B Esh B Ul a
(3) W a9 areifad @y @ T F B '
! 53 $ @ <

l:"'”"B flf"nrcign Investment Promotion Investment Board) is replaced by which of the
following agency ?
(1) FEFP (2) FFIP

P ’
3) 1 L{B o (4) None of the above
UHIRITE (@29l e dadw FRg G16) @ Eretataa § § A oo &R
uferenioe fapar T & 7

(1) T (2) U

(3) UdtaTEdT (4) IuTERT § F %8 Ael
The Uruguay Round provided 'Sunset Clause' to control :

(1) Customs Valuations (2) Dumping

(3) Technical barriers to trade (4) Dispute Settlement
I& g 9 FEEer % e gata @z gem B

(1) & g geain (2) sfu

(3) MR & T Th-iih! e 4) faame FHae=
'"World Economic Outlook' and 'Global Financial Stability' reports are prepared by :
(1) IMF (2) WTO

(3) World Bank (4) UN
Trgg afis oTeegd’ SR Aftas Reim Reuxar RUE Reas ara 9 1 Sl

g ?
(1) STSUATH
(3) fagg %

A country is not able to fund its imports through its capital exports leading to deficit of its

(2) G99 YR oA
(4) g o

reserve. It is known as :
(2) BOP dcficit

(D) Fiscal deficit
(3) BOP surplus (4) Fiscal surplus
wF d97 ST ol FrAld & AT ST SRR B M 47 A went W@ B
Bryd o He & HH1 €1 Sl 21 g F8 Al el S #
(2) gieidt grer

(1) IrSIHIETY =reT
(3) dreqdy srfeId (4) TSR SRR

P.T. Q.
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" Window" of the World
98. Which of the following institutions is known as the "Soft Loan W1

(1) IMF - (2) IDA (3) IFC N Sg—-
Preffas @ Req dem @1 Red de @ cdme @ @8I T H S

ST 8 ? 2
(1) SEuHTH (2) STEET (3) SMETHHT (4) ol

99. What is the full form of CAS with reference to W.T.O. ?
(1) Country Assistance System (2) Country Assistance Strategy

(3) Common Assistance Strategy (4) Country Assembly Strategy
TS (WT0) & Hes § diugd (CAS) @1 gof &7 &1 & 7

(1) 3T FEEET TOTRT (2) 391 FEEET IO

(3) IE™=T HEEdar oI (4) H=T T oM

100. According to Eclectic Paradigm, which of the following is not basis for
internationalization of production ?

(1) Ownership Advantages (2) Location Advantages

(3) Factor Advantages (4) Internalization Advantages

TR UioaE & APER, FrEfiad § 9 B9 Sded & A aEIor Fi
3ER 787 & ?

(1) @iiE arg (2) &= @

(3) BB ATH (4) SAARHHIOT AT
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. A distribution where the value of arithmetic mean is maximum as compared to median

and mode, is :

(1) Normal Distribution
(3) Negatively Skewed Distribution (4) None of the above

UH do el g o Sged #H GO X SHORG ArA Bl A AR
g 8, a8 B - |

(1) g¥ = f&awer (2) EPRIAS @9 § f{uw fqaxo

B) THERTES ©7 9 f{Quw faaver 4) IWET 7 § Hig ALl

(2) Positively Skewed Distribution

. The power of test is denoted by :

(1) Alpha (2) Beta (3) 1-Alpha (4) 1-Beta
qderer F ok arT Felaa fear ST @ -
(1) STF®HT (2) e (3) 1-3TFHT 4) 1-sfrer

. Process of arranging data in new order is called :

(1) Manipulation of data (2) Standardization of data
(3) Sequencing of data (4) Standardized input
21 & ¢ B § FARYT HA H UEHAT HBARI B °

(1) 31 %1 BT (2) ST HT AFDHIHIOT

(3) 32T B JTHAT (4) AFRIBT IS

. Analysis of variance is a technique used :

(1) To test the homogeneity of several variances.
(2) To test the homogeneity of two variances.
(3) To test the homogeneity of several means.
(4) To test the homogeneity of two means.

gEROT HT AN UF qeheiieh T ITANT AT STRT B .o, :
(1) HE Rr=Aarell B THEIar 1 gLl A B [

(2) B FEIOT P THEYAT BT T HA B Q)

(3) 3P QAT P THEIAT BN AT B B AT

4) & |EE! P THEgar B ghEr B B [

P.T.O.
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5. Select the incorrect statement out of the following regarding eOSTEIAtORN SORL SERTERRION :
(1) Correlation is the movement between two variables and is symemc in nature.
(2) Regression establishes functional relationship between two variables.
(3) Correlation studies linear and non-linear relationship between variables.

(4) Regression aims to find dependent variable.
agﬁ#ﬂaﬂ'ruﬁmﬂ%ﬁa‘uﬁﬁw%ﬁ?ﬁﬁﬁ ToTd HIF B TAT B
(l)mﬁqﬁaﬁ%dﬁaaﬁnﬁf%aﬁtwﬁrﬁmﬁa%l
(Z)Wﬁﬁ%ﬁamﬁmﬁﬁqmﬁﬁmﬁl
(&asﬁﬁuaﬁ%mamzsa?ﬁﬁtmﬁa‘ﬁzmmm%n
(4)uﬁ=m=rasr3€stra=rﬁéﬁa'{aﬁ@aw%u

An empirical relationship between standard deviation, mean deviation about mean and

6.
quartile is :
(1) 4SD=6MD=5QD (2) 4SD=5MD =6 QD
(3) 6SD=5MD=4QD (4) 5SD=4MD=6QD
m%ﬁaaw,mwﬁaaqaﬁragﬁm%eﬂa@aqu%:
(1) 47q =617 =5+ 2) 4ug =577 A=6F =
(3) 6TH S=5TA Si=4F A 4) 5aq =477 SI=6F 3N

7. If a random variable x follows chi-square distn'bution with 3 degree of freedom, then the
mode of x 1s :
(1) 0 @1 3) 2 4 3
afr us agREs =% x 3 Rl wdEar & 9™ HR-EEER {EIer B FgET B
2, dr x T 95D ® :
1o @ 1 (3) 2 @ 3

8. Which of the following sampling scheme has no prior fixing of the number of observation
to choose ? :
(1) Snowball (2) Inverse (3) Stratified (4) Multistage

Prfafad # & g T Ao § g B R oaeie @t we B B8 W

foraftor 728F 8 7
(1) Endfe @) g1ad | 3) gRwrs 4) sgwE

9. Which of the following type of sampling can be in the absence of proper sampling
frame ?
(1) Simple random sampling with replacement
(2) Simple random sampling without replacement
(3) Stratified random sampling
(4) Systematic sampling

PHD/URS-EE-2022/(Commerce)(SET-X)/(C)
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C
SR JaRiT B B orvra F T A @ e IR @1 SgAEsToT @ e & ?
(1) 9RGT $ | XA qgiess AHAHT
(2) aREGT & R /X AglRe® AT
3) WP agfes T
(4) TARGT TEATHOT
10. Netflix is a classic example of :
(1) Skimming pricing (2) Value based pricing
(3) Penetration pricing (4) Cost plus pricing

TR SHH T TP I B
(1) RepRiTT e fFreizor

(2) -G FHHEa

(3) RN geu e

@) @rET q oIl gea e

11. The cost arising out of the failure of the customers to meet their obligations when
payment on credit sales become due after the expiry of which the credit period, may be

attributed to which of the following ?
(1) Collection Cost (2) Default Cost
(3) Delinquency Cost (4) Attrition Cost

P R A FRE H U HE H R{Aeaar 9 S &R a/ll A 9
Hise N W PIM 37 & Sar g, Rgs #wise omfr 9« 'R 3 9,

fr=faiaga & 9 fpas e RAgR S8 S gsar 8 ?
(1) §u& ar (2) Bwike AR

(3) 9UY AR (4) Tfgs™ @FE

12. Improvement in PV ratio can be done by :
(1) Increasing selling price (2) Altering sales mixture

(3) Reducing variable cost (4) All of the above
PV U ¥ guR fped ary fear s dar § 7
(1) Reh 979 ST ) faE Rysror seeT

(3) 9REAda AR HT FH HET (4) SUFT T

PHD/URS-EE-2022/(Commerce)(SET-X)/(C) P.T.O.



13.  Which one of the following is not among the assumptions of the MM Model ?
(1) Perfect capital market
(2) Equivalent risk classes
(3) Unity for dividend pay-out ratio
(4) Absence of taxes
Rreiffa & & & oo dtsa #H Araarelt ¥ & 78 B ?
() |& Toit IR
(2) F9geT S &
(3) I Y ITU B e e

(4) B B TR

14. From investor's point of view, the cost of capital is :
(1) Interest rate (2) Market value
(3) Yield of capital structure (4) Stock exchange value
Frages & gfepior |, §Sh & are 8 ¢
(1) & X (2) ISR 99 _
(3) IS |1 B IASA (4) Vi TS I

15. A, B and C are partners in a firm sharing profits and losses in the ration 4 : 3 : 2. They
agreed to take D into the partnership and gave him 1/8 share. What is their new profit
sharing ratio ?

(1) 4:3:2:1 (2) 28:21:14:9

(3) 28:21:14:8 , 4)4:1:2:1

A B3R Cus wf § @R & ok 4:3:2% ofgud ¥ H-8iw died €19 D
H gEE § a9 » e geua gu o) 38 1/8 e fRam SWw T @™

SearT ITUNT F41 B ?
(1) 4:3:2:1 (2) 28:21:14:9

(3) 28:21:14:8 4 4:1:2:1

16. Which one of the following methods of Inflation Accounting has been proposed by
Sandilands Committee of U. K. ?
(1) General price level method (2) Specific price level method
(3) Current cost accounting method ~ (4) Generally accepted accounting principles
go%oa%@r%%sﬂaﬁ%mgmﬁﬁﬁ@rhﬁ%ﬁwmaaﬁﬁﬁﬁaﬁm
|1 g B e ?
(1) M ged i} faf (2) ffdre g X
(3) adtar FFT der gs (4) TR X e an Rywia
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17. Combined leverage can be used to measure the relationship between :
(1) Sales and EPS (2) PAT and EPS
(3) EBIT and EPS (4) Sales and EBIT
HIFT I BT ST B A qEd B A9 B Rig fmar o ae @
(1) fH R $day 2) 9t AR ddieE
(3) MRS IR iy @) R AR gefemd

18. When the foreign currency assets and liabilities match in terms of amount of exposure and
timing of maturities, it is described as :
(1) Financial hedge ' (2) Natural hedge

(3) Perfect hedge (4) Netting
mmwwmwmﬁmﬁm%m

® dadf ¥ A« @ §, a7 39 39 IBR ak BT S @

(1) < T=m VAR IEARETCEIC]

(3) focpe @8 =™ (4) STt .

If the EOQ for an item of inventory in a firm is 1000 units. The estimated demand for the
next year gets doubled, what shall be the revised EOQ next year, all the other relevant

cost remaining same ?

19.

(1) 1000 (2) 1414

(3) 2000 | (4) None of the above

R wp wf T awg g B hA agg H doNag 1000 SHE TI SFR ¥ B R
SIHI AT SR B SR B, oF AW et dofieRy T BFM, ST Wl
iR AR 9 @l & ?

(1) 1000 (2) 1414

(3) 2000 @) ST F | g T

20. Market risk is also known as :
(1) Systematic or Diversifiable risk
(2) Unsystematic or Diversifiable risk
(3) Systematic or Non-Diversifiable risk
(4) Unsystematic or Non-Diversifiable risk
IEIR ST Bl ..., $ wq & ff ST S g
(1) =xafrga ar [y sifew
(2) raRaa a1 e kew
(3) =gy a1 I-Rfky ke
(4) sreattga a1 IR-ffey Sifkew

PHD/URS-EE-2022/(Commerce)(SET-X)/(C) P.T.O.
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21.

Balassa Index is often used as a tool to measure :
(1) Relative trade performance of individual cou
(2) Comparative cost advantage of Nations

(3) Product life cycle of different commodities
(4) National Competitive advantage

T £29 HY T A @ Riw wh STHl B @7 F SErT B o #
(1) Rl aregolt F orerT-oreTT 29 B Wdw SR TR
(2) ST BT GEARAS AR AT

3) faft=r axgatl ®1 SUE SiaT =5

4) TS aRkreguiores @

ntries in particular commodities

Match the list below relating to the benefits and cost of economic integration :

A. Trade creation i. Movement of production and resources in
opposite directions.
B. Trade diversion ii. Become active when a member country does not

augment export but simply shifts its imports from
low cost source to high cost source.

C. Trade deflection iii. Shifting the locus of producﬁon from high cost to
low cost production.

D. Polarisation forces  iv. Goods produced in third country entering a free
- trade area through a member country having

lower tariffs.
Codes :
(1) A—ii,B—iii,C—iv,Dfi () A-ii,B-iv,C-i, D —iii
(3) A—iii,B-i,C—iv,D~ii ) A”iii’B‘ii,C——i,D_iv

PHD/URS-EE-2022/(Commerce)(SET-X)/(C)



TR TR B @ AR AR & ety e & g @ e ]
A. R FAHfor i Sare iR ganEt w1 Rada Rymelt & dewr

B. WK HIS ii. 9fp s @ P e v a7 gie @
HET 2 gfp OO oTHTE HY HH AR g A
§ = QNG 9 O ¥ i B adT 81

C. =R f@ger jii. SUET B W H =g AR Q@ B AR aR
SO # RS ST

D. gfeeoTr aw jv. SER 29T A SR A B ARG AR qEE I
P AT { YT AWK O T AT HAT B

S
(1) A-ii,B-iii,C-iv,D-1i (2) A-ii,B-iv,C—i,D—iii
3) A-iii,B-1,C-iv,D-ii 4) A-iii,B~ii,C-i,D-1iv

23. Domestic Tariff Area in India means :
(1) Any area outside SEZ
(2) Any area except the custom bounded area
(3) Any special allocated area
(4) None of these
aRa § st MG A 7 o B
(1) wasds B aw< B @
(2) FEH IEST TRAT FHl BIZHL Big A &A
(3) HiE A orEieT &=
@) 57 |§ D5 T

24. FIPB (Foreign Investment Promotion Investment Board) is replaced by which of the
following agency ?
(1) FEFP (2) FFIP
(3) FPIB ' ’ (4) None of the above
upesdEl (ARl PRy ot fRw 919) B Feafiiea & € BB oo 3
giereenfa fear mar 2 2 ‘
(1) TwsTHdt | (2) THTHIEG
(3) THASTER 4) Sude § | B T

PHD/URS-EE-2022/(Commerce)(SET-X)/(C) - P.T.O.



8
25. The Uruguay Round provided 'Sunset Clause' to control :
(1) Customs Valuations ) Dumping
(3) Technical barriers to trade (4) Dispute Settlement
m%%m%m‘wm’mm‘
(1) =T gb TeiHT (2) SfT

(3) =WR 3 R gHha e (4) fame e
26. "World Economic Outlook' and 'Global Financial Stability' reports arc prepared by :

(1) IMF | 2) WTO

(3) World Bank (4) UN

gmmaw,wmwm»mémngaﬁm
? . ,

(1) ABTHTH 2) favg AUR FTST

Q3) fava ¥ 4) g o1

27. A country is not able to fund its imports through its capital exports leading to deficit of its

reserve. It is known as :

(1) Fiscal deficit ~ (2) BOP deficit

(3) BOP surplus ' (4) Fiscal surplus
@%ﬂaﬁ@ﬁmﬂ%'wﬁmﬁmaﬁﬁﬁ%ﬁﬁwﬁ%
ﬁaﬁm%#ataﬁﬁéaﬁ%n@%ﬁmm%:

(1) TSTHIET =T (2) St =
(3) dadr e (4) TrSTH TR

28. Which of the following institutions is known as the "Soft Loan Window" of the World
Bank ?
(1) IMF (2) IDA (3) IFC (4) ADB
Wﬁammﬁm%ﬁ“mm@»»%mﬁm
e 8 7

(1) oTTATs  (2) SN (3) STEuwE @) wdh

29. What is the full form of CAS with reference to W.T.O. ?
(1) Country Assistance System (2) Country Assistance Strategy
(3) Common Assistance Strategy (4) Country Assembly Strategy.

PHD/URS-EE-2027J(Commerce)(SET-X)l(C)
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seqiol (WT0) 3 waw # diea (CAS) 1 ot & 7am & 7
(1) 3T FEHAT JOTR (2) 39T GEEAT ORI
(3) AW HE™AT TR (@) F =R TOFIRT

According to Eclectic Paradigm, which of the following is not basis for
internationalization of production ?

(1) Ownership Advantages (2) Location Advantages

(3) Factor Advantages (4) Internalization Advantages

TRiffes SR B orER, Freliiaa § @ B ST B SAAUSIEaHT B
MR 78 & ?

(1) T & (2) &&= e
(3) HRFH @H ‘ (4) SriaREHIeT T
Marginal equity funds are alternatively known as :

(1) Gilt Funds (2) Index Funds

(3) Hybrid Funds (4) Balanced Funds
dia SRS weq B Jpias &Y § SHT SR B

(1) Free wea _ (2) 53 wgd

3) EBES ®sH (4) &= wsd
Reverse repo rate is a tool used by RBI primarily to :

(1) Inject liquidity (2) Absorb liquidity
(3) Protect bank credit (4) Build reserve

?ﬁﬁﬁwﬁmmg@mﬁmmwﬁ I T BT

(1) e AfeEatEd (2) ueod RfEiEd

(3) URFE & BieT @) s Red

ICICI was established in 1955 by an initiative of :

(1) Reserve Bank of India (2) World Bank

(3) International Monetary Fund (4) Industrial Financial Corporation of Inida
o dt o @ o H T 1955 F R vew q gg A ?

(1) g R % @) Rva ¥

(3) AL &1 B (4) w et Rl Fem

PHD/URS-EE-2022/(Commerce)(SET-X)/(C) P.T.O.
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34. Assertion (A) : Commercial Papers are issued by the repu
a short period.
Reason (R): Commercial Papers are unsec
fixed maturity.
(1) Reason (R) is true, Assertion (A) is false.
(2) Assertion (A) is true, Reason (R) is false.
3 Bfoth Assertion )(A) and Reason (R) is true, but Re
of Assertion (A). . )
(4) Both Assertion (A) and Reason (R) is true and Reason (R) is correct explanation of
Assertion (A).
R (A) = %Ttmgs%ﬁr%ﬁmﬁﬁmm%ma@mqam
|
ST (R) : gﬁ%ﬂﬁ&mmaﬁrﬁﬁaﬁqﬁqma@ammqq
|
(1) HT(R) €A &, gﬁm (A)Wﬁ§|
(2) SHFHAT (A) §F 8, HROT (R) T B |
3) WA%@TW&)ﬁW%, AR BT R) AT (A) H 98
g7 |

(4)@&@;(A)WW(R)%W%®TW(R)@MW(A)#H€(
RAT B

ason (R) is not correct explanation

35. Statement I : FDI is known as hot money. :
Statement II : Participatory notes are associated with Foreign Institutional Investors.
(1) Statement I is correct, Statement II is incorrect.
(2) Statement I is incorrect, Statement 11 is correct.
(3) Both Statements are correct.
(4) Both Statements are incorrect.
%HEq 1: FDI st 8¢ w1l 3 &9 & SIE7 SfaT 2
HoT 11 : Ferll gy el derm Faset @ o8 8
(1) o7 1981 &, FOTT 81 (2) B9 [0 8, Ho7 Mas 2

3) At FTIT & T @) Ot FAT T F |
36. The system of collective bargaining as a method of settlement of industrial dispute has
been adopted and provided under : ol industrial dispu

(1) The Industrial Disputes Act, 1947

(2) The Trade Unions Act, 1926

(3) The Industrial Employment (Standing Orders) Act, 1946

(4) The T aft-Hm:_éey Act, 12§7ﬁfﬁ g " -

Senfes_ faar & faer w0 g dRqch

T § SR 39B IBd WS ReAT T B B TN B AT
(1) strenfrep faam sffaw, 1947

(2) =5 gFrEe AfefEE, 1926

(3) ol USTIR (Tt oTRY) sffrm, 1946

(4) Age-ardw If™fagH, 1947

PHD/URS-EE-2022/(Commerce)(SET-X)/(C)
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37. Which is the main governing body that deals with the matters related to EXIM policy ?

(1) Commercial Banks (2) SEBI

(3) DGFT (4) RBI

e N | e wwet & Praed awn ger e Prem Hear 8 ?
(1) IiPRYs §$ (2) gt

B) & wp & 4) IR & o

38. Which of the following has been appointed as the regulatory agency regarding the matters
of consumer right violation ?

(1) National Consumer Protection Organization
(2) Central Consumer Protection Authority
(3) Union Consumer Protection Agency

(4) National Authority for Consumer Protection

STHIRT ARPR IEE B HEEl @ g9y § Prafieg § 9 Y Pams ook
® @9 ¥ frge e @ ?

(1) I ITdAr 90 9% (2) BT ITAFAT FLEAOT FIREHOT

(3) §9 ITHIFAT 0T T (4) ST GERIT B T TS qIREEET

39. What does protest means as per Section 100 of Negotiable Instruments Act ?
(1) g‘lhae defaulting of payment instrument by the drawee in order to prevent payment to
WeT.

(2) The process of freezing the payment instrument by the drawer owing to its failure
being brought before the due date.

(3) A certification by a notary public of dishonour by non-acceptance or non-payment on
the request of the holder within a reasonable time.

(4) None of the above

qeEra frEa St @ aRT 1003 STTER R w1 onf § ?

(1) SMEToET B PRIF Vb7 B T owmE R YW e § g6 )

@) grar frad $ e @R P HROT I8 39 R | 9w S FE @ oakeE

(3) tF I g9 B AR uRE B AP W RSP 91 WP I)
FARR B Aeh afeds aRT THONHIT |

(@) 90T H# | g T8

40. Which of the following policy has lost its sheen consequent to the implementation of the

GST law in India ?
(1) Monetary Policy (2) Fiscal Policy
(3) Trade Policy (4) Exim Policy

PHD/URS-EE-2022/(Commerce)(SET-X)/(C) P.T.O.




s A QR ? — L
(1) R AR @) e A
(3) =R AT @)

i imensions. Which
41. SERVQUAL Model of service quality consists of five di of 8

b ot UAL? .
following is not dimension of SERVQ 3 Consistency (4) Responsiveness

g; Empathy N aa?;;mg;btf’ﬁ o3 81 fr= # & P SERVQUAL
omam & B ? : SaTEREl
(1) HergaRy @) ) 8 ¥

i s . hes, a manager picks
: . wing decision making appr oac' Upa
42. According to which of the following enoush under the circumstances ?

course of action that is satisfactory or g0 - .
(1) The Behavioural Approach (2) The Bounded .Ratlonzfllty pproach
(3) The Garbage Can Approach (4) The Cooperative Social System Approach

ﬁqﬁ@aﬁamﬁmaﬁ%w%w’@“mwE‘““'g’“
Waﬂm%ﬁqﬁﬁmﬁﬁﬁmﬂiﬁmmé?

(1) =EeR g (2) §tf g5 T g
(3) RIS BT WA (4) GEHI QTS SAaE e
43. One trait that dominates the personality so much that it influences nearly everything a
person does, is a
(1) Global trait (2) Specific trait
(3) Cardinal trait (4) Central trait

s AEar S ik W 59 R} M & IRl 8 [ e & 39 99 @
g ST & o U Ak wiaT 8, 98 ® -

(1) 3f3as Qe ) Ryt RAwar
(3) ISt farsrere @) 8T Rdwar

The Johari Win.dow of interpersonal behaviour has 4 Quadrants. Which one of them
represents what is unknown by the person about themselves but is known by others ?

(1) Open self (2) Unknown self
(3) Blind area (4) Hidden area
PHDIURS-EE-2022/(Commel‘ce)(SET-X)/(C)
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WWﬁMf@Wﬁ4a@mmtlwﬂﬁmw%;
%uﬁﬁﬁa? HIOT B O fey omaw AR & ot B Afpw qEdt B AT S Smen
(1) M9 qTH (2) I ATH
(3) <Tg°E TRAn (4) B3+ afr
45. Which of the following is not a basic function of 'Scanlon Plan’ ?
(1) Philosophy of competition (2) Identity
(3) Competence (4) Involvement system
Frefiiea § @ S ‘DN @ B ga s 8T R 7
(1) gR&FaT &1 g9+ (2) gEE™
(3) Frgar (4) wrferl gomedt
46. Identify the pricing strategy where the mark-up is inverse to the elasticity of demand :
(1) Shadow pricing (2) Skimming
(3) Penetration pricing (4) Ramsey pricing
qJoa FreiRer OFify @ geeE B STET A-eT HET @ @ B el 8
(1) BT ge e (2) RepfHT
(3) aeT g feiRer @ T g PR

47. Which of the following statements defines boundary spanning ?
(1) It refers to obligation of an individual, firm or institution to account for its activities

and accept responsibility for them.
(2) It refers to the process that helps the organization and its employees to link with their
external environment through specific activities/functions.

(3) It refers to the science of morals, principles and rules of conduct.
(4) It refers to the multiculturism management.

Praffag & @ DF-G7T HUF GET BRAR B IR B § ?

(1) 95 B =, o a1 den @ R B Ige RitEl @ e Reaw
SBUAT & Ok % Re RrRerl @ier Hear B

@) 9% I GRFT F GaRiT HRET B S0 Wed ORI _HHemal i Rt
ffafE/eEt $ Ay @ o9 'l a|Eer § Egw # Jag S 2

(3) a5 My, Rt ol omeRer & Pt @ Rsw & Helia s B

(@qgmnﬁmaﬁﬁaﬁam%l
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where there i8 recommendation of the

slice of life' kinds of appeals to yg, otrype' of

ts, target market and COmpetitiye simag:-ve"
l()ns

48. The model of decision support
advertisement with humorous and
marketing goals and characteristics of produc

is known as :

(1) MEDICAD (2) PROMOTOR
(3) ADCAD (4) COVERSTORY

ﬁﬂhwﬁhmmaﬁﬁﬁﬁaﬁ‘mmm’%mm
Eﬁm‘sﬁﬂaﬁwﬁ%,mmﬁwqmﬁeﬁmﬁa%ﬁ aﬁ%%
Waﬁrmﬁaﬁﬁ%mmaﬁwﬁaﬁm%mﬁww

®:
(1) Az () wEeX
(3) ErEeE (4) FHATER |

49. Work measurement refers to : |
(1) The length of time it takes to complete the work assigned to a particular job
(2) Improving working methods
(3) Arrangement of machines according to operations
(4) Planning the work and working for plans
HE w9 B GaRia HRar R ¢ |
(l)mﬁsﬁwmaﬁﬁwmaﬁwaﬂ%ﬁwﬁww
(2) M HA B alepl § AR | | |
(3) dERE & TTAR AT B FTEN : -z
(@) B N Ao aET AR Aot $ R FE HE

B0: . s wimtdi is defined as dispute between parties submitted and decide by a neutral
third party. |
(1) Collective bargaining (2) Affirmation Action
(3) Arbitration (4) Negotiation

................ ﬁmﬁﬂwmwaﬁtﬁrﬁaﬁﬁa@qﬁ%mm‘
(3) HEREET (4) ST

51. As perthe Gordon Model, in which situation dividend theory becomes irrelevant ?

(1) When retention ratio declines
(2) When rate of return is equal to cost of capital

(3) When dividend pay-out is zero
(4) When the rate of refurn is higher than the cost of capital

PHDNRS-EE-202ﬂ(Conmlerce)(SET-X)/(c)
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M Alsw B orgaR, fea Rafy & i Ry otumdfes &1 o 8 2
(1) S/ araRen orgur & RRmEe omh 8
(2) S/ T ) T OO A ARET B IEX B B

(3) ST9 WWIN Y LA 8
4) 519 qEEt #H T T H A q o R

52. Production function is not based on the assumption of the :
(1) Substitutability of inputs (2) Complementarily of inputs
(3) Marketability of products (4) Specificity of inputs
- AR BEH ) GROT 9% iR 7&7 B
(1) 399e 3 GRreIg=T & (2) 19T B GIHAT
(3) SRl # {9 e (4) ST W fAf¥rear .

53. A monopolist always operates in the :
(1) Inelastic segment of demand curve
(2) Elastic segment of demand curve
(3) Unitary elastic segment of demand curve
(4) None of the above

Th UHIREHRAE! S99 & Hrf Har 8 -
(1) HFT 9% &1 INER_R @S

(2) 1T 9% Bl AERR TS

(3) HNT G & THKAH AERR TS
(4) STqFT F F Hig &

The inverse relationship between variations in the price and quantity demanded is not due

54.
to:
(1) Income effect (2) Substitution effect
(3) Future expectalions (4) Law of diminishing marginal utility
S oK J07 & e ¥ R & diE gopd day e sRoT 8 R ?
(1) 3T g49E | (2) gftreegs gHE
(3) = & I @) TrewE dwia SuARET @ FE|
55. Find the marginal revenue of a firm that sells a product at a Qrice of Rs. 10 and the price
elasticity of demand for the product is -2 :
(1) Rs. 5 (2) Rs. 10
(3) Rs. 30 (4) Rs. 15

PHD/URS-EE-2022/(Commerce}(SET-X)/(C) P.T.O.
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mwﬁmmmnmmmanomaﬁmvmmzm
I B g7 ) Hiwg ag 2R
(1) Ss9a @) 10573
(3) 30592 @) 1559

56. Sub-optimal allocation of resources under monopoly to cause social welfare loss is often

termed as :
(1) Deadweight loss (2) Allocation drift
(3) Monopoly loss (4) Opportunity loss ‘
HRoOT 91 I dgreEt 3 39

mﬁm%aﬁmmﬂ%wﬁﬂ
mmﬁmmm%:

(1) Ssa< @™ (2) oTEed qEE
(3) THIHR B (4) oaax &
57. Which of the following is first order condition to maximise profit ?
(1) TR-TC
2) MR=MC

(3) MR cuts MC from below

(4) Slope of MC curve must be higher than that of MR curve
wﬂmm%mﬁmﬁmﬁﬁﬁﬁq@mmm%?
(1) & R - &

2) T AR =T |

(3)MR%MCEb°r=ﬁﬁﬁ’cﬂEﬁtﬂ

@) MCWWWMRW@WB’W?:@I

58. The "Dominant firm model" is an oligopoly model, which is also known as :

(1) Bertrand Model (2) Stackelberg Model
(3) Cournot Model (4) Kinked Model
“gg@wm"@mwm%,ﬁ%%mﬁﬁmm%:
(1) 9gs #EdA (2) Qe Aew

| (3) ®EAE HiSH @) fHws dtEw

t 59. Excess capacity is not noticed in which of the following market conditions ?
(1) Monopoly (2) Monopolistic Competition
(3) Oligopoly (4) Perfect Competition
mﬁammﬁmﬂmmwmm%?
(1) THIEHR (2) TR SRERT
(3) SN @) Tt R

PHD/URs.EE-2022!(Commerce)(SET-X)/(C)
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60. For which of the distributions Mean and Median are equal ?

(a) Binomial Distribution (b) Poisson Distribution
(¢) Exponential Distribution (d) Normal Distribution
(1) only (a) (2) only (b)
(3) only (a) and (c) (4) only (b) and (d)
B de B Riw ang ol et wEw ¥ 2
(a) faus femor (b) @rET fRa<er
(c) arig faawor (d) g fRyeRor
(1) B9 (a) (2) @aw (b)
(3) FaF (a) T () (4) Baw (b) e (d)

61. The financial institutions have major say in which of the following corporate governance
models ?
(1) Japanese Model (2) Anglo-American Model
(3) German Model (4) Indian Model

Wﬁﬁ%ﬂ%@hﬂﬁ%ﬁﬁﬁq@ﬁaﬁm%m
(1).Gntn=ﬁﬁ1'sa (2) Gr-omRET dlew
(3) STH9 Hisw @) 9\RAT dtsa

62. Which of the following is rot an individual method of performance approval ?
(1) 360 Degree Appraisal (2) Management by Objectives
(3) Behaviourally Anchored rating Scale(4) Check list Method
Fr=faiad & & Si9-a1 gl orgHie 1 o =tk ader 78 2 ?
(1) 360 f&3l Hearisa (2) B B ERT YS9
(3) =HaE® &9 4§ dHE W B (4) 9% e A

63. Which of the following theories of labour welfare believes that workers are becoming
more and more aware of their rights and welfare measures can appease them ?

(1) Philanthropic theory (2) Placating theory
(3) Public relations theory (4) Functional theory

9 el B e § & PH-ar Risra 7mar € B afe o siteRt 3
R 7 oIt |/ s oTEd & @ ¥ IR HErm U 9% g &% 6

g7
(1) 99 s (2) @i e
(3) SETD T (4) TS R
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market which provides the holder

. . . . e
. SR is a type of option in foreign exchang e ourable exchange rate aaizved

the right to purchase or sell foreign currency at the most

over the life of the option. .
(1) Forward reversing option (2) Prcfercncc.opﬂo’"
(3) Look-back option (4) Basket option

o arm B Amea %
................ fRf g1 g # wH 9B B ® ATBTT
w«mwmuumw@ﬁﬁmmm‘ L

HT B
(1) »RaS Rafdr Ree ) adaar @
3) TH-3% fE (4) arehe BT

65. "4R's Strategy of Government is undertaken to reduce and recognize NPA accounts with
reduction in total bad debts.” 4R's in the statement is not referring to :
(1) Recognition (2) Recitation
(3) Recapitalization (4) Reforms
"R # THR B R g o Fo ¥ B B aE T wwt B w5
FA O TEAY B AT @ | W ' pE F AR B Rwe 7T ®
(1) A=t (2) & 9
(3) g ToleoT (4) gur

66. Which of the following is not the feature of OTCEI ?
(1) Quick transfer and disposal system (2) Nationalized computerized networking

| (3) Ring-less trading system (4) Fragmentation of regional stock exchange
Frfafea & § ®9 OTCEI & e 728 & ?

(1) =R TFIRET AR Faem gl (2) Tsfiapa Hrediea YearsT
(3) Foraw T e @) ey Wie TS S s

Which of the following is characterizes the early stage financial crises ?
(1) Falling prices of residential properties. ‘
(2) Excessive euphoria about the future prices of certain assets
(3) Excessive pessimism about future assets price .
et Y '

IS 1O B Ay |
(1) s waRmY % P Rt cis
(2) B HaRwEt %nﬁwﬁaﬁqﬁ%aﬁﬂwm
(3)aﬁwa%ﬁq%ahma%aﬁﬁmmﬁrmm |
(4) WX FH Pt F s | '
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68. What is the term ugeg popularly for the situation when speculator being dominant in the

foumnvk;t’d ;"PeCtS 8 drop in the value of particular currency and he begins selling it

(1) International fisher effect

(2) Bandwagon effect
(3) Interest rate parity

(4) Relative version effect

(1) RIS R gwg ) ¥ yw
) IS T |qwa (4) G {1 g

69. Which of the following statement is wrong with respect to Euro Notes ?
(1) Euro notes are like PNs for obtaining short term funds.
(2) Euro notes are legal tenders in the form of a banknote.
(3) These are denominated in the currency of the country where they are issued.
(4) Represents low cost funding route.
{hﬁﬁ%ﬁﬁaﬁﬁmﬁf@aﬁﬁiﬁw@ww%?
(D) T Ae sty By o 53 3 fie PNs3 awe B
(2){&?‘12@%%%@1?351@%%31@%1
) ¥ 39 20 B g A TewEiia O ¥ ot o o Rear s 2
(4) B9 AFRT 9/ T 9T qRt wr gRifRE s )

70. The linear relation between the excess return on individual securities and overall market
at every point in time is known as :

(1) Capital Market Line (2) Security Market Line
(3) Security Characteristic Line (4) Market Specification Bias

g §99 WX ARREE SRRt o e aeR 91 oiiRee Red @ 9 Waw
a9 3 ©9 F STET T B

() T 9K | (2) G TR @
(3) ga fasar & (@) IR fafRRrear gatus
71. Which of the following does not fall in the ambit of objectives of the Competition Act ?
(1) Encourage competition (2) Prevent abuse of dominant position
(3) Protect investors interest (4) Regulate mergers and acquisitions

R & @ S aRedt oRfET & SRedt ® TER § 787 o & ?

(1) uferegyl & Meafed ST (2) s i & gewawT & A
3) PRy 3 Rt & wn FE (@) e o) sftwreer H R s

PHD/URS-EE-2022/(Commerce)(SET-X)/(C) P.T.O.
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72.  If there is breach of conditions of contract by the seller :
(1) Buyer can repudiate the contract
(2) Buyer is still bound by the contract
(3) Buyer can renegotiate the terms of the contract
(4) Contract stands nullified
aR REAT ST SE B At H eisA Pear o ¥
(1) EOER FET B FEHR B FHAT 2
) EfER o i orgEy § W B
(3) RN FTgE I T T A A B
(@) orgEy PR & SwET ¥

73. As per Section 80G, the maximum deduction allowed for any cash donation is up to :

(1) Rs. 1,000 (2) Rs.2,000
(3) Rs. 5,000 (4) Rs, 10,000
msoﬁ%aﬁaﬂ,ﬁ?@ﬁwm%m'mmm%=
(1) 1,000 59 T (2) 2,000 593 TH . }
(3) 5,000 59 TH (4) 10,000 597 <

74. StatementI: Reduction of tax liability within the framework of law is tax planning.
Statement II : Reduction of tax liability by utilizing the benefits of deduction available
under the Act is tax evasion.
(1) Both the Statements are correct. (2) Only Statement I is correct.
(3) Only Statement II is correct. (4) Both the Statements are incorrect.

Fo I: FHA 3 2 & o) HY o & ol w REeE R
o I1: oRfET & d5d SU Hedl D AE Bl IYGFT BB HL a4

FH R DA B
(1) SFT FET T ¥ (2) et w19 B
3) Faa Fo NEE 1 @) W B W ¥
75. A trader buying timber under a forest lease via auction is liable to pay :
(1) TCS (2) TDS
c) Income tax (4) Forest Excise Duty

. PHD/URS-EE-2022/(Commerce)(SET-X)/(C)



(2) Current Repairs

(3) Current repairs plus 1/7th of Capj i
tal Expenditu
(4) None of these : P

maﬁﬁwaﬁmn%m,wémmﬂwmaﬁﬁ
SREEC IS L R B BT BN B T@T RHAT ST T 2 |

(D) 7=/ R G v o o

2) T A=

G) TN THT AR Fofvrr = 31 17767 foey
@ 9 § *E & -

77. The perquisite value of education facility provided by the employer to the children of
employee is nil if :

(1) The cost of education per child doesn't exceed Rs. 1,000/month.
(2) The cost of education per child doesn't exceed Rs, 2,000/month.
(3) The cost of education per child doesn't exceed Rs. 3,000/month.
(4) The cost of education per child doesn't exceed Rs. 4,000/month.
ﬁm%qgﬁmaﬁam%a‘ﬁﬁaﬁmﬂzﬁﬁﬁaﬁﬁmw_ﬁmw
ﬁﬁaﬁﬁwﬁmﬁmﬁ 1000/91® § 31 wE )
(2) 9fy =2 fImn $r AP TIF 2000/ § o TS B
(3) gfr s=2t famw & aFT B9 3000/ A FE R
- (4) gfy =2 R @ Ara S92 4000/ /@ st TE R

78. Which of the following is correct about the residential status of a Company ?
- (1) A company can be classified as Not Ordinary l.{esident. ‘
(2) A company can never be classified as Not (?rdxnary R.esxdent.. .
(3) A company can be classified as Not Ordinary Resident with the permission from

Ministry of Finance. ‘ : i e
@) A cmgany can be classified as Not Ordinary Resident with the permission from

Ministry of Commerce.

PHDIURS-EE-ZOZZ/(Commerce)(SET-X)/(C) P.T.O.




79, As per section 44 AB, tax audit s compulsory in case person carrying on a profession

whose turnover exceeds :
(1) 10 Lakhs (2) 50 Lakhs
(3) 1 Crore 4) 5 Crore

g1 44 T, %qum?,qﬁzfﬁéwﬁﬁ@aﬁﬁ%’ Rt TSN o B,
ﬁr%zrﬂaﬂ%‘da:rﬁaﬁ%:

1) 10 ¥/ (2) S0«

3) 1978 4) 5 B3

is entl ' of Rs. 1,800 p.m. for commuting from his residence to
= égzﬁgﬁézﬁsggﬁxaﬁ ,400 p.m. Thle) exemption shall be allowed of :
(1) Rs. 1,800 p.m. (2) Rs. 1,400 p.m.
(3) Rs. 1,600 p.m. ' (4) Nil
Xl,sms@qﬁama%wm%aﬁmﬁmﬁmaﬁ%m
EE 1,4mmaaﬁm%|§aaﬁraq§qﬁaaw’ﬁt

(1) 1,800 593 9T A& 2) 1,400 59 9iT e
(3) 1,600 593 gitr W& @) FB &
81. Which of the following is not one of the Fundamental Accounting Assumptions ?
(1) Going concern (2) Consistency 4
(3) Accrual ' (4) Conservatism
i & @ P A dEHT gROm F ¥ w787 27
(1) acfar Fore (2) HTer
(3) Swad 4) SREw

82. Social Balance Sheet shows :
(1) Social costs
(2) Social revenues

(3) - Value of employees of the organization
(4) All of the above
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TS T e Reawn B -
W - (2) gt e
(3)W%asﬁmﬁq};ﬂw (1) S o

83. (I;fa]x:gx‘:?:(::t f;;S::;i :alipected to increase if the new project is implemented, then while
(1) Whole overheads cost needs to be considered.
(2) It will be ignored, |
(3) Only incremental overhead will be considered.
(4) Only incremental overhead will be ignored.

AR TE RIS @rr 8 %
B T o e & T SMRE A wgd A gwha B, @ PR A

(1) ¥ slla@s @ R RER w33 99 enasasa B
- (2) T8 ToRSRES WY Rar o)

(3) Faw ghea SuRe W REr R s

4) Faw gheshi SuRer ox e =8 Rar s

84. Capital gearing is higher if the proportion of debt is :

() Lower (2) Higher (3) Indifferent  (4) Equal
geil Pl st & afe o1 &1 orgum 2
(1) =4 (2) I=] - (3) SR @) sXEQ F/

85. Capital structure of business unit consists of ;
(1) Equity and Preference share capital
(2) Equity, long term debt and short term loan
(3) Equity capital and debt capital
(4) Equity, preference and debt capital
SIaaE 3HE @ Joh dxamr # e e ¥
(1) gREd o admar SR Oof
) R, a1 o Fo ok e of @
3) ehed $oft IR FoT T
@) Zherd, adrar AT FeT Iof
PHD/URS-EE-2022/(Commerce)(SET-X)(C) P.T.O.
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hod is advised for evaluation

86. In which of the following situations, the payback period met
of investment opportunities ?
(a) Overleveraged business
(b) Cash rich business
(¢) Uncertain market conditions
(d) Stable market conditions
Choose the correct code :
(1) (a) and (b) only (2) (a) and (c) only
(3) (b)and (c) only (4) (c) and (d) only
Prfeia § @ e Rafy § Faw @ omedl 3 Tt 3 T
gafy A goe & S 2 ?
(a) SNEEass fsHg
(b) B TIE FIAHE
(c) IfiEa IR & Rk
(d) ReR SR it

et B g - |
(1) F= (2) S (b) (2) B (a) A (©)
(3) Fa< (b) A (c) (4) Fa (0) 3R (d)

A sale and lease back arrangement is more suitable for lease having :

(1) Liquidity crisis (2) Surplus fund
(4) No profit or loss

9% 3@y

(3) High profit
AT B R R IR WfreT 3 Hae it SUGHT R
(1) a<erar &< (2) TR ey

(4) HE T T B TS

3) S= @A

88. Financial deepening refers to :
(1) Increase in the number of participants in the financial system

(2) Increase in the financial asset as a percentage of GDP

(3) Increase in credit creation

(4) Increase in lending by commercial banks

R TeTaT P dai B B
(l)ﬁ?ﬁamﬁqﬁwﬁﬁaﬂd@rﬂq@
2) e B uRieE & &9 § Rl F@uft 7 i

(3) F°T o ¥ &
4) ¥t g IR 7 gfa
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89. Maitch the fOllowing:
- List - 11
A. The technigue : ‘ .

change iﬂ(:]l:levzt\hn?;bll: al:s: (til " eXamining the effect of i. Hiller Model

me.
B. The TOCess s Iy -
pregem Valuoef, dCVelopmg the frequency distribution of net ii. Sensitivity Analysis

' que is used whep investment in future is to be iv. Simulation
decided on the probable outc

ome of previous investment.
(1) A-i,B-ii, C-iii,D

iy (2) A-ii,B-iv,C—i, D—iii
&) A—iii, B-iv,C—i,D -ji 4) A-iv,B—i, Cii, D —iii
F=fefee #t gafe R |

e -1 gl -10

A.agﬂﬂFﬁ%Fﬁ@WﬁQeﬁﬂ'{ﬁqﬁaﬁq%i. feex dfsa
TS BT IR A F e oy 2

B. g I 9@ & arerar Rawer 3 Reig a5 i SEERNINSIRCAR LU
B gk

C. a8 a5 s Swm g=r @ ot g adam i, ot o
I @ 9@ #H oS § B s )

D. @& &1 SUAFT a9 Rear omn @ o wRsy § iv. Repse
Ay Red AT & g9fdg oo w9 fen

ST 2 )
(1) A—i,B_ii,C-iii,D—lV (2) A_%LB—i.v’C_},D_HI
(3) A-iii,B—iv,C-i,D-ii (4) A-iv,B—-i,C—ii, D-iii

1 ities have :
ing to CAPM, overpriced securities
¥ Ssc;eil: lg)e;s (2) Negative betas

(3) Zero alphas (4) Negative alphas
10

I
afferes @ aweh SRRt
ey g

3) BT W e
LI IAE
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91. What are the components of holistic marketing concept ?
(a) Relationship Marketing

(b) Integrating Marketing

(c) Internal Marketing

(d) Performance Marketing

(€) Socially responsible marketing
(f) Brand Marketing

(1) a,b,c,f () a, b, c,d, e

(3) a,b,c,e @) a, ¢, d,f

T O SR B ued v 8 7

(@) 999 fQuuE

(b) AT B THIHA HTA

(c) FiaR® RIo™

(d) veei= Raem

(e) @I w9 | PrAgR fuve

GECISRERME

(1) a,b,c,f (2) a,b,c,d, e

() a,b,c,e 4) a,c,d,f
82. Which of the following is not a dimension of Transactional Leadership ?

(1) Contingent Rewards (2) Laissez-Faire

(3) Active management by Exception  (4) Planning for long term

Frafaiad & § B9 A9-39 g B A T8 B ?

(1) STRREH JGEHR () Tewwd

(3) S9aE ERT 9fFT gseH (@) o<t Iy B g AT ST
93.

‘What is the meaning of 'Refreezing' under Kurt Lewin's Model of Organization's Change
process ?

(1) Strengthening and making new assignments, technologics and relations.

(2) Itis a process by which people are made to realize the need for change.

(3) It involves taking action to modify a situation by changing people, task, structure and
technology of the organization.

(4) None of the above

He AR B oA #H R TBha @ Atew B Twd ReARET w1 9 ot ® 7

(1)mmﬁ,a@ﬁﬁaﬂaﬁtmﬁmaﬂtwm|

2) 98 T AW uE B RS I At B oRadw %y ermyasmar o weaN
AT ST 2

3) za8 A B Al &K HE, §ET AR Sty &
()ﬁ S s Rt 5\ B gEEHL A

) Sudad ¥ @ $18 79
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g4. Which of the followmg or
a dynamic environmep; ? Sanization hag Utmost mutyaj understanding and is suitable for
5 Neworg npEizton Q) Virtual organizat
rk organizag; Organization
on (4) Horizontal organization
e & g BN ‘

» (2) The informal
(3) The automatic approach Ormal approach

(4) The single-rate approach
gesiF oy W%ﬁﬁﬁr@aﬁa -1 gRemor
aﬁ-{maﬁmﬁﬁﬁa‘iﬁa%? M T s

(1) TrFaar giessior ) SRR gReer

(3) T gfReepior (4) TH-ET R
96. Who coined the term Total Quality Management ? |

(1) Herzberg (2) Edward Deming

(3) Kurt Lewin (4) McGregor

T oA U 1w RpEe e ?

(1) wfenf (2) a2 3fin

3) B¢ AR (@) AHIR

87. Which of the following refers to increasing fluctuations in inventory as a result of change
in the customer demand ?

(1) Bullwhip Effect . (2) Safety Stock

(3) Enterprise Resource Planning (4) None of the above

Frefofag & § 31 JE® & 5/ § 9509 & IRTEEET <990 § 999 9are
TS Y HERig Har & 7

- () ags geE
(3) IEw gEEE el

PHI)/URS-EE-ZOZZI(Comme:rce)(SET-X)/(C)
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' to include which of
88. The theories that explain the formation of ‘Informal Groups 8¢ LB
following ? e Balance Theory
- i ) Similarity Or
(a) Propinquity Theory EZ) Need for Achievement Theory

(c) Displacement Theory
(1) only (a)and (d) (2) only (a) and (b)

@) (a), (®), (© and (d)
533)'40':1;"(:*), (;)T;;fd (EC%) e o T R aw R # freafafed § 9 5

My HEAT B ? . T
(a) Frepear RisrT (b) FETT AT [
(c) R R | (d) Syater Rysr Bl ST
(1) 3o (a) T (d) (2) Faa (a) I (®)

(@ (@, 1), (0T @

(3) 3a (a), (b) A (c)
In which of the payment of bonus is linked to performance of specific employees or group

of employees ? .
(a) Profit sharing plan. (b) Gain sharing plan

() Social system plan
(1) Only (@) - (2) Only (b) .

(3) Both (a) and (b) (4) (a), (b) and (c)

?ﬂﬁmwwmmmmﬁﬁ%w%WQ@
?

(a) 9Tihe TI=AT HE 9 qIST (b) I TR HE B ST

(c) M1 FIET ST :
(1) 3 (a) (2) @9 (b)
(3) (a) 3R (b) DT | 4 (@), (b) 3R (c)

100. Attn'bu?es or benefits that consumers strongly associate with a brand, positively evaluate
and believe they could not find the same extent with the competitive brand is known as :
- (1) Competitive Points-of-parity (2) Relational Points-of-parity
(3) Correlational Points-of-parity 4) Points-of-difference

qF o1 A1 T 2 IusieRT fh) mis 8
@WW%@TW%%%WWJS?%%EWW
P &, 3% T HeT oI & 7 ™ 9 Her qe T W

(1) gfereadt oi @ gaFar (z)ﬁamm@mm
(3) geded [Rig-g9mar (4) 3% & sje
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Which of the following is rot onc of the Fundamental Accounting Assumptions ?
(2) Consistency
(4) Conservatism

1.
(1) Going concern

(3) Accrual

Prfifad & @ @1 AfeE dieT aRen # § T 78l 27
(1) g™ == (2) Gl

(3) W&EaT (4) wiear

2. Social Balance Sheet shows :

(1) Social costs
(2) Social revenues
(3) Value of employees of the organization

(4) All of the above

qEe dag ofie REmr 8 -
(1) qroTE AR (2) g™ ST

(3) WA B FAERE B OqE (4) Io G
If the overhead cost is expected to increase if the new project is implemented, then while
calculating cost of capital :

(1) Whole overheads cost needs to be considered.

(2) It will be ignored.

(3) Only incremental overhead will be considered.

(4) Only incremental overhead will be ignored.

af ¥ GRS @F EF W EEs A 9eY @ IR B, @ Lot H ar
@ O FHE T

(1)@%@3%«%%@@@%%;

(2) 39 FoISIETS HI AT S|

3) Paw gRaeha Suiera o) REr ar s

4) aa ghadier SuRera X e & far s |

4. Capital gearing is higher if the proportion of debt is :

(1) Lower (2) Higher (3) Indifferent (4) Equal
o Rrfer aiftes 2 afe soT &t orgam B
(1) &9 (2) FEER (3) Jerd= (4) el B
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5. Capital structure of business unit consists of :
(1) Equity and Preference share capital
(2) Equity, long term debt and short term loan
(3) Equity capital and debt capital
(4) Equity, preference and debt capital
T FH1E B gSht S@eeeT § e gt ©
(1) A AR Floar dax Toir
(2) sF=d, |1 o Wor ol 9 = A
(3) =R §5f o FoT g
@) SRR, ahaar oi T o

In which of the following situations, the payback period method is advised for evaluation
of investment opportunities ?

(a) Overleveraged business

(b) Cash rich business

(¢) Uncertain market conditions

(d) Stable market conditions

Choose the correct code :

(1) (@) and (b) only (2) (a) and (c) only
(3) (b) and (c) only (4) (c) and (d) only

e & 9 fea Refir § MR 3 oaadt @ g & e 39 o@f
g &I |drs & Sl & ?

(a) STEadEss fTe=g

(b) FhE THE FTIA™

(c)axﬁiﬁaaamtﬁ_ﬁaﬁr

(d) Rer TR Rt

& B I -
(1) B (a) AR (b) (2) Fad (a) AT (c)
(3) Fad (b) 3 () (@) Faa (¢) R (d)
7. A sale and lease back arrangement is more suitable for lease having :
(1) Liquidity crisis (2) Surplus fund
(3) High profit (4) No profit or loss

PHD/URS-EE-2022/(Commerce)(SET-X)/(D)
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Mo & fo e ol o A eqaeen arfo Juygar B
(1) e Hepe (2) orfer fafe
(3) Jeq @™ @) ®¢ e ar et T

8. Financial deepening refers to
(1) Increase in the number of participants in the financial system
(2) lncrease in the financial asset as a percentage of GDP
(3) Increase in credit creation
(4) Increase in lending by commercial banks
g ear @ dafdfa s B
(1) ey goneht o gt @ den 4 gie
(2) g & gfee & w9 § R quit & gix
(3) F1 g5 # gix
(@) i dwt g Sur # ghe

9. Match the following :
List -1 List - 1I
A. The technique that is used in examining the cffect of i. Hiller Model
change in one variable at a time.
B. The process of developing the frequency distribution of net ii. Sensitivity Analysis
present value.
C. The technique that is used in examining the chances of net iii. Decision Tree

present value greater than zero.
D. The technique is used when investment in future is to be iv. Simulation

decided on the probable outcome of previous investment.
() A-i,B-ii,C—iii, D-iv 2) A-ii,B-iv,C—-1,D-iii
(3) A-iii,B-iv,C-i,D—-ii (4) A-iv,B-i,C—ii, D -1iii
Frfiea @ gakmwr B
g -1 e -11
A. 98 THI% S Uh G H @ 9% H UREaw B i e disd
TN BT GO HA A TR B OSIRT B
B.ggmaﬁmim%m' frereor @ eiea we il Gawmeierar T
[
C. a8 ThIp RTH ITGRT q oiftrs aaaE i, ot
Wﬂﬁwﬁmaﬁﬁﬁaﬂ%m%lw &
D. 9% H TGN q9 e onar @ o9 Wiy 7 v, fagess
PRy Rl fRy & gwiya oo ) ag e

ST 21
(1) A-i,B—ii,C—iii, D -iv (2) A-ii,B-iv,C—-i,D~iii
(3) A-iii, B-iv,C~-i,D -ii 4) A-iv,B-i,C~ii, D—1ii
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10.  According to CAPM, overpriced securities have :

11.

12.

13.

(1) Zero betas (2) Negative betas

(3) Zero alphas (4) Negative alphas

Hieies & ogER, ot #iwa awh afegfal § 2

(1) = e (2) THRIHD deT

) LT HFATH (4) TPRIHD TTHI

Which of the following does not fall in the ambit of objectives of the Competition Act ?
(I) Encourage competition (2) Prevent abuse of dominant position

(3) Protect investors interest (4) Regulate mergers and acquisitions

%ﬁ@%mm%@ﬁ%mﬁ F&F ot ® ?
(1) vireast 1 ez s (2) 9= Rl & gEIERT &1 AHT
) st B et 9% @ o (4) FeT ok oftmmyr w1 JAfyafe Hwn

If there is breach of conditions of contract by the seller :

(1) Buyer can repudiate the contract

(2) Buyer is still bound by the contract

(3) Buyer can renegotiate the terms of the contract

(4) Contract stands nullified
aﬁﬁ%mmaﬂﬁqaﬁsﬁwmmm%:
(1) TRR e B iR BT Foar &

(2) TR a1t o argey & Ty B
(3)@mmﬁmﬁwmﬁmaﬁamm%
(4) orey T &) St ®

As per Section 80G, the maximum deduction allowed for any cash donation is up to :

(1) Rs. 1,000 (2) Rs. 2,000

(3) Rs. 5,000 (4) Rs, 10,000

KT S0 % A Tl W T A B Rie ot ot B 3
(1) 1,000 592 T% (2) 2,000 57 T

(3) 5,000 59 T (4) 10,000 5 w5

PHD/URS-EE-ZOZZI(Commerce)(SET-X)/(D)



D 5
14. Statement I: Reduction of tax liability within the framework of law is tax planning.

Statement II : Reduction of tax liability by utilizing the benefits of deduction available
under the Act is tax evasion.

(1) Both the Statements are correct. (2) Only Statement I is correct.
(3) Only Statement II is correct. (4) Both the Statements are incorrect.

wo T 1: W%tﬁ%a‘sﬁﬁrmzﬁﬁﬁwmﬁzﬁm%n
Wn:m%mwmaﬁ%mﬁwmmmmﬁ

HH HT A B
(1) ST He T8l 2 (2) daw Hu [FE B
(3) Faa B LT B (4) 2T FEE @ 8
15. A trader bnying timber under a forest lease via auction is liable to pay :
(1) TCS (2) TDS
(3) Income tax (4) Forest Excise Duty

M%W@@Q%aﬁmaﬁ@ﬁﬁwmwmﬁ
3 foro Soer ® ¢

(1) & € w8 @ a s

(3) BT (4) 99 IR T

16. Under Section 31 of the Income Tax Act, deduction can be claimed on account of
of plant and machinery used in normal course of business.

---------------
P

(1) Capital and Revenue Expenditure on Repairs

(2) Current Repairs

(3) Current repairs plus 1/7th of Capital Expenditure

(4) None of these
anwamﬁmqa%mm%m,mﬁwmﬁmmmﬁmﬁ
as AR AWM B oo %wmwmmmm%n

(1) 70Ha 9 o AR T 9

(2) FAHF HATA

(3) adam woEa AR Toir =T 1774t fewa

@) T | I T
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17.

18.

19.

0

The penguisite value of education facility provided by the employer to the ¢hildrey, of
cmplovee is nil if :

(1) The cost of education per child doesn't exceed Rs. 1,000/month.

() The cost of education per child doesn't exceed Rs. 2,000/month.

(3) The cost of education per child doesn't exceed Rs. 3,000/month.

() The cost of education per child doesn't exceed Rs. 4,000/month.

ﬁuﬁ;mmﬁ%aﬁﬁaﬁwaﬁmﬁaﬁﬁmwwm‘m
I qe

(D 9 9= Ry 8 T 593 10007 § ot & 2
() 9 T= Rn & @ s 20004 § ot & B
3) 9 S R 1 are 59 3000/ Q@ ot 8
) 9T T= RET ) aE S0 4000 Qo T8 R

Which of the following is correct about the residential status of a Company ?
(1) A company can be classified as Not Ordinary Resident.
(2) A company can never be classified as Not Ordinary Resident.

(3) A company can be classified as Not Ordinary Resident with the permission from
Ministry of Finance.

(4) A company can be classified as Not Ordinary Resident with the permission from
Ministry of Commerce.

MﬁWM%aﬁﬁﬁwﬁﬁwﬁéﬁawwﬁ%?
(n@m@mwﬁa'@ﬂ%ﬁ%mﬁmﬁ%hmmm%l

o

(2)Q$Mﬁmﬁmwﬁm%mﬁmﬁwﬂﬁﬁﬁmmm%|
(3)%Wﬁmﬁwmﬁwﬁmw%mﬁwﬁgﬁ

As per section 44 AB, tax audit is compulsory in case a person carrying on a profession
whose turnover exceeds :

(1) 10 Lakhs (2) 50 Lakhs
(3) 1 Crore (4) 5 Crore

WM@.%W,uﬁaﬁéaﬁﬁ@ﬁﬁﬁ%,ﬁwﬁaﬁwﬁm%,
qr Fq JAMfRT svad B

() 10&rg (2) 50 &/
3) 1 s 4 S HUs

PHDIURS-EE-ZOZZ/(Commerce)(SET-X)/(D)
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X is entitled to transport allowance of Rs. 1,800 p.m. for commuting from his residence to

20.
his office and back, he spends Rs. 1,400 p.m. The exemption shall be allowed of :
(1) Rs. 1,800 p.m. (2) Rs. 1,400 p.m.
(3) Rs. 1,600 p.m. (4) Nil

X1,8msﬁqﬁaﬁwﬁmw%mﬁﬁmﬁmmﬁaﬂﬁaﬁ%ﬁm
T 1,400 59 @ HeaT B 1 Ge B AR & S

(1) 1,800 5% wfer 718 (2) 1,400 597 gk 7@
(3) 1,600 97 Hfer w18 @) BB &l
21. The financial institations have major say in which of the following corporate governance
models ?
(1) Japanese Model (2) Anglo-American Model
(3) German Model (4) Indian Model
mﬁammmmﬁwmﬁwmm
g7
(1) Smart dfead (2) dr-amR®H Aisd
(3) SPfF HAtsd (4) IR 91
22, Which of the following is mot an individual method of performance approval ?
(1) 360 Degree Appraisal (2) Management by Objectives

(3) Behaviourally Anchored rating Scale (4) Check list Method
Rretofad § § BT YG T @1 Th ARe s 7@ © 7
(1) 360 &M et (2) SRedl & BT yEEA
(3) =aeRe &1 & 5 W @ (4) 9% foee @
23. Which of the following theories of labour welfare believes that workers are becoming
more and more aware of their rights and welfare measures can appease them ?
(1) Philanthropic theory (2) Placating theory
(3) Public relations theory (4) Functional theory

s HT B R # @ Pear feEr Aee @ R oA o st 3
ai ¥ ot @ Rt e B @ ¥ ol N 9T 3% g T ER

¥E?
(1) IR Rgsr=r (2) @i R
(3) swEuS e (4) FEats e
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4. is a type of option in foreign exchange markct'W:llch T}‘ovndcx the hnldc,

the right to purchase or sell foreign currency at the most favourable exchange ry FCalizg

over the life of the option. :

(1) Forward reversing option ) I;ref](:rfl(l):‘fﬁgﬁt‘o"

) . 4) Baske

(S)LOOkbaCkigg;%mgm o & QEE(S:EFR W PR BN A B ey %

meaﬁwﬁmﬂﬂwﬁ%ﬁﬂﬂmmﬁwaﬁﬁmﬂm

HET B

(1) BRaE Raffr Rrped (2) ardgan fasmed

(3) TH-¥% Riewea (4) arbe RAH

"4R's Strategy of Government is undertaken to reduce and recognize NPA acco

unty With
reduction in total bad debts." 4R's in the statement is nof referring to :
(1) Recognition (2) Recitation
(3) Recapitalization (4) Reforms
-'4Rﬁwﬁm@{mwﬁm%mwmﬁm
Waﬁrqﬁmﬁ%mgmaﬁﬂs‘%rmﬁmwm & T
(1) A=zar (2) g€ e
(3) g Gsfiepeor ‘ (4) gumR

Which of the following is not the feature of OTCEI ?

. (1) Quick transfer and disposal system (2) Nationalized computerized networkin g

(3) Ring-less trading system ()] Fragmentation of regional stock exchange
it & & Sm OTCEI % Risoar 78 & 7

(l)aﬁﬁwmmaﬁtﬁmm(z)wwﬁﬁaﬁm
(3) Ror-aw 2T fyeew @) &l R v # R

Which of the following is characterizes the carly stage financial crises ?
(1) Falling prices of residential properties.
(2) Excessive euphoria about the future prices of certain assets,

(3) Excessive pessimism about future assets price.
(4) Stagnating share prices.

Wﬁﬁ%mw%ﬁﬁﬁmaﬁﬁm%?
(1) omarET quiREt #t R o
(2)@8#@&7%%&1@%%31%1’1@@1&:5@@.
(3)%@%@%%@:&1&%%.

(@) R AN Pt F e
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28. What is the term used popularly for the situation when speculator being dominant in the
market, expects a drop in the value of particular currency and he begins selling it
forwacd ? .
(1) Intermational fisher effect (2) Bandwagon effect
(3) Interest rate parity (4) Relative version effect

39 e & v a1ely w0 9 3@9W AT TR aRT 95 #4T © o9 aer d

GEA & 9YE B 2, Ry 3 ¥ frEe & 2
sﬁaﬁmgﬁw%m%?gm w WSSl S

(1) SFRISH R e (2) ¥¥™ wwE
(3) =T R HHaT (4) WeT HEHLOT THE

29. Which of the following statement is wrong with respect to Euro Notes ?
(1) Euro notes are like PNs for obtaining short term funds.
(2) Euro notes are legal tenders in the form of a banknote.
(3) These are denominated in the currency of the country where they are issued.
(4) Represents low cost funding route.
g et B gayg § Frafafea § § $F-91 S T 2 7
(1) IO e sty Fiy o H3 & e PNs#i a@ 21
@) T e TH T e B w7 T B BRET ¥
(3) ¥ 39 AW B GuT H Pewalia ex § ol IR T BeAr ST ® )
(4) H TETT A e Qe AR B S B R

30. The linear relation between the excess return on individual securities and overall market
at every point in time is known as :

(I) Capital Market Line (2) Security Market Line
(3) Security Characteristic Line (4) Market Specification Bias

TF G O AR gRREt o) qEE AR W iR Red @ 4= W
gy @ &9 § FET ST @

(1) TSt aoIR @ (2) TN IR @
(3) g Rdwar @ (4) AR Ffdmear gate

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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31.  What arc the components of holistic marketing concept ?
(a) Relationship Marketing
(b) Integrating Marketing
(¢) Internal Marketing
(d) Performance Marketing
(¢) Socially responsible marketing

() Brand Marketing

() a,b,c,f (2) a,b,c,d, e

3).a, b,¢;é 4) a,c,d,f

7T U STEEReT & Hedh FAT § 7

(a) g fauor

(b) HIBIST B Tl HAT

(¢) AR fauor

(d) ge=xi= Rgem

(e) EMISTH &9 § R eR U

(f) s fgo™

(1) a,b,c,f (2) a,b,c,d, €

(3) a,b,c,e @) a,c,d,f
32. Which of the following is not a dimension of Transactional Leadership ?

(1) Contingent Rewards (2) Laissez-Faire

(3) Active management by Exception  (4) Planning for long term

FrefaRag & 9 S A9-89 Agd B A T8 8 7

(1) SATBRHS YIEHR (2) oY

(3) S9gE ERT 9ihg g9eH (4) @< afer & [ A g9
33. What is the meaning of 'Refreezing' under Kurt Lewin's Model of Organization's Change

process ?
(1) Strengthening and making new assignments, technologies and relations.

(2) Itis a process by which people are made to realize the need for change.
(3) It involves taking action to modify a situation by changing people, task, structure and
technology of the organization.

(4) None of the above
He Afa B TS P qRads GEHaT B disd b ded ‘RHRET %1 1 ot B ?

(1) q HEf, TFeEnffFEa IR Gaar H T4 IR Aoga BT |
(2) 7% ush O ufpar ® e gRT arlt & aREdd @ oIasasdr &1 UEdH

HIT AT B |
(3) 398 Wres & @t E S, §EET ol SN $) godwt Refy &

it e & T SRaE ST aNfEeT
(4) 3T & q HE A8
PHD/URS-EE-2022/(Commerce)(SET—X)/(D)
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34. Which O.f the f()ll()W'ing organization has utmost mutual understanding and is suitable for
a dynamic environment ? L
(1) Free-form organization (2) Virtual organization
(3) Network organization (4) Horizontal organizati
zontal organization
P & 3 FF-a1 e oaie ReRe SWw TE ©oolk et
arEReT $ e Suge R ?
(1) -5 Feq (2) R e
3) ATTF e @) s e

35. Which of Fhe following approaches of perfomance based payment deals with both the
amount of increase in pay and period of review ?
(1) The merit approach (2) The informal approach
(3) The automatic approach (4) The single-rate approach

TR R PIE P Meiiaa § § $e-a1 giedr 3o § gk @
I THleT H 3Efy ST § dafg § ? :

(1) e gl ) RS e

(3) wanfaa gResor (4) THA-TT gREHIOT
36. Who coined the term Total Quality Management ?

(1) Herzberg (2) Edward Deming

(3) Kurt Lewin (4) McGregor

FHA YOIl JEET T fpe et ?

(1) ssteet (2) wsasS S

3) +¢ A (4) FHIR

37. Which of the following refers to increasing fluctuations in inventory as a result of change
in the customer demand ?

(1) Bullwhip Effect (2) Safety Stock

(3) Enterprise Resource Planning (4) None of the above

ﬁwﬁi@ﬁﬁﬁﬁwmﬁqﬁﬁmﬁ%msﬂﬁﬁmw-
Ho™ & daiia sl 8 ?

(1) 99 99 (2) gT SR

(3) = HEE A (4) ST & | FR T

PHD/URS-EE-2022/(Commerce)(SET-X)/(D)

P.T.O.



12 ]

: Taf, ups’ are to include whe .
38. The theories that explain the formation of 'Informal Group de Which of the

following ?

(b) Similarity or Balance Theory

(@) Propinquity Theory (d) Need for Achievement Theory

(¢) Displacement Theory
(1) only (a)and (d) (2) on)lya(:)l) (al;d (l:j)(d)

(3) only (a), (b) and (c) 4) (a), (b), (c) an
‘ﬁwﬁaa@'%maﬁw@rmﬁmﬁmﬁﬁwﬁr@aaﬁm
it = B ?

(a) Mepear e (b) FHEET AT God HEe

(c) s e (d) Iuater RErT & STEsgesar
(1) Baa (a) 7 (d) (2) Bad (a) 3 (b)

() FAT (a), (b) 3R (c) 4 (), (), () 3T (@)

39. In which of the payment of bonus is linked to performance of specific employees or group
of employees ?

(a) Profit sharing plan (b) Gain sharing plan
(¢) Social system plan

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) (a), (b) and (c)

Wﬁwwwﬁﬁmmﬁﬁmmﬁﬁ%w%mﬁ@
g 7?

(a) difhe GBI H I T (b) 9 G HA N AT
(¢) ™IS =qger gio™T

(1) %o (a) (2) @4 (b)

(3) (a) 3R (b) S 4) (a), (b) 3T (c)

40. Attributes or benefits that consumers strongly associate with a brand, positively evaluate
and believe they could not find the same extent with the competitive brand is known as :

(1) Competitive Points-of-parity (2) Relational Points-of-parity
(3) Correlational Points-of-parity (4) Points-of-difference

@wmmﬁ%mmm%mmﬁaﬁgﬁ%,wmm

amm%mwﬁ%%amm%mmmwaﬁm
% ¥, 3% 997 FaT o B ?

(1) ufereqeft oi% &5 gumar 2) AT Ui oy AR
(3) weHdd fEg-auaT (4) 3% B oy

PHD/URS-EE-2022/(Commerce)(SET-X)/(D)
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41.  As per the Gordon Model, in which situation dividend theory becomes irrelevant ?

(1) When retention ratio declines

(2) When rate of return is equal to cost of capital

(3) When dividend pay-out is zero

(4) When the rate of return is higher than the cost of capital
mm%w,mmﬁmﬁmammam%?
(1) 9@ YR U 7 firEe o 8

(2) 9T aE # & G B AF B GOET B @

(3) ST ST YA g 8l
(4) g qE! T Ioit A ar § o 2

42. Production function is rot based on the assumption of the :
(1) Substitutability of inputs (2) Complementarily of inputs

(3) Marketability of products (4) Specificity of inputs
I B B IO 9T omiRa 78 B

(1) 3992 &l gfreg & (2) YT W FIHAT
(3) IRl P g e (4) eme™T Hi fafgred

43. A monopolist always operates in the :
(1) Inelastic segment of demand curve

(2) Elastic segment of demand curve
(3) Unitary elastic segment of demand curve
(4) None of the above

U UHTHREE! Bae & HE B @

(1) 57T g% &I dAEER TS

(2) 97T 9% & AEER TS

(3) | @ &1 UHHE AR ES

(4) 39T & | Hig T80

The inverse relationship between variations in the price and quantity demanded is nof due
to :

(1) Income effect

(3) Future expectations

(2) Substitution effect
(4) Law of diminishing marginal utility

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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14 ey fpa® BT T & o
maﬁ?wﬁnaﬁwffﬁ{ﬂm%?ﬂaww:m

(1) o g (Z)W;nqﬁmmmﬁm

(3) wfasy a5 =i “)

ice of Rs. 10 and the ..
45. Find the marginal revenue of a firm that sells a product at a price o  Price
clasticity of demand for the product is -2 :
(1) Rs. S @) Rs. 10

3) Rs. 30 4) Rs. 15 _
%%w%wmmﬁlowﬁﬁqﬁq?mq'a T ¥ iy
ST B HAT B Fia w2

() 5593 (2) 10592
3) 30573 @) 15592
46. Sub—optimal allocation of resources under monopoly to cause social welfare loss is oftep
termed as ;
(1) Deadweight loss (2) Allocation drift
(3) Monopoly loss (4) Opportunity loss

%WWW%WWWWH@W%W

(1) Ss3qe @ty (2) AEeT gug
(3) THiYpR =iy (4) ST =g

47. Which of the following is first order condition 0 maximise profit ?
(I) TR-TC
(2) MR =MC
(3) MR cuts MC from below
(4) Slope of MC curve must be higher than that of MR curve
mﬁwﬁwmﬁ%mﬁwﬁrﬁmﬁﬁﬁmﬁmmaﬁ%?
(M) 2 o -& @
(2) T R =uy @
(3) MR MCH 99 § = Ry
(4) MCWHWMRW@%MW%Q

48. The "Dominant firm model” is an oligopoly model, which is also known as :

(1) Bertrand Model (2) Stackelberg Model

(3) Cournot Model (4) Kinked Model
“wg@wm”wmmr%a%,m%mﬁﬁwm%:
(1) 9¥s Htsq ) Raaet gfsq

(3) BT Htza (4) s Afsq

PHD/URS-EE-2022/(Commer0e)(SET-X)I(D)
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49. Excess capacity is not noticed in which of the following market conditions ?

(1) Monopoly (2) Monopolistic Competition
(3) Oligopoly (4) Perfect Competition

Wﬂﬁ%wﬁmﬁaﬁﬁwmaﬁi@aﬁ%?
(1) s (2) iR SRR
(3) STEHR (4) gof R

50.  For which of the distributions Mean and Median are equal ?
(a) Binomial Distribution (b) Poisson Distribution
(c) Exponential Distribution (d) Normal Distribution
(1) only (a) (2) only (b)
(3) only (a) and (c) (4) only (b) and (d)
8 deq % R A oir mitgs g ¥ 2
(a) Taug faawor (b) @rEET fFeor
(¢) =g faveT (d) Fm=T &
(1) a (a) (2) @ (b)
(3) Haa (a) TN (c) (4) @At (b) Tem (d)
51,

The cost arising out of the failure of the customers to meet their obligations when
payment on credit sales become due after the expiry of which the credit period, may be
attributed to which of the following ?

(1) Collection Cost (2) Default Cost
(3) Delinquency Cost (4) Attrition Cost
ehl R A4 @I B J0 B § e § So= €9 arll g e

Hise ol W PgIAE 3T B S 8, Bl e sEf g 2R B aw,
Frfafaa & 4 fros fog Rer sstrm s 9%ar 8 ?

(1) §J8 @rrd (2) Bwice @r G
(3) I AR (4) Tfee™ ARRT

52. Improvement in PV ratio can be done by :

(1) Increasing selling price (2) Altering sales mixture
(3) Reducing variable cost (4) All of the above

PV oua & g Reasd & fear o §&n 8 ?

(1) Rl o Fem (2) Ta=i TyeoT aga

(3) IRGEE AP B B HIAT (4) IuTrT g4l
PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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MM Model 2 |

A . acsumptions of the
53.  Which one of the following is nof among the assump

(1) Pertect capital market

(2) Equivalent risk classes

(3) Unity for dividend pay-out ratio

(4) Absence of taxes ?
N tihoeJmmpmm—— LS SRS
(1) &1 goil g

(2) Fge Rt &

(3) THiYT P AU & g Il

(4) B F Srgarefa

54. From investor's point of view, the cost of capital is
(2) Market value

(1) Interest rate
(4) Stock exchange value

(3) Yield of capital structure

Fass & gftesror @, §oft & A ©
(2) g™ T™E

(1) =& a3
(3) It HLAT FH ITS (4) TWH TR T

A, B and C are partners in a firm sharing profits and losses in the rati.on 4 31 2. They
agreed to take D into the partnership and gave him 1/8 share. What is their new profig
sharing ratio 7
(1) 4:3;2:1 (2) 28:21:14:9
(3) 28:21:14:8 4 4:1:2:1 .
A B3R Cud o & gER & oK 4:3:2% Sigum & M-8 dfed 213D
F HERT ¥ @9 $ [ gedd g oIk 38 1/8 fewdr An| I WA am
FeqrT U F;T T ?

(2) 28:21:14:9

(1) 4:3:2:1
(3) 28:21:14:8 4 4:1:2:1

Which one of the following methods of Inflation Accounting has been proposed by
Sandilands Committee of U. K. ?

(1) General price level method {2) Specific price level method

(3) Current cost accounting method  (4) Generally accepted accounting principles
go Bo F ATy AR BRT B AT B Pt aowr § & o

a1 y&aa A w8 7
(1) 9mT™= goa ®R &y (2) Ritre gw wx ff

(3) adg™ A AET qE& T (4) ITFAR UT g den i
PHDIURS-EE-2022/(Commerce)(SET-X)/(D)
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57. Combined leverage can be used to measure the relationship between :

(1) Sales and EPS (2) PAT and EPS

(3) EBIT and EPS (4) Sales and EBIT

g I HT IIART H A9 GIY B A0 B o fear smoasmar 2
(1) = olr Sy (2) didt ofr iy

(3) $HamEd IR Fiug @) R &l e

58. When the foreign currency assets and liabilities match in terms of amount of exposure and
timing of maturities, it is described as :

(1) Financial hedge (2) Natural hedge
(3) Perfect hedge (4) Netting

v faRell gur aftEuitat oft SneREt cagae @ TRT o aRudEdr & /9
% Hedl # A9 @i ¥, o 29 59 wer affa Rea o @

(1) =i s=m= 2) e =™
() facgw wE a=g@ (4) ST

59. If the EOQ for an item of inventory in a firm is 1000 units. The estimated demand for the .
next year gets doubled, what shall be the revised EOQ next year, all the other relevant
cost remaining same ?

(1) 1000 ) 1414

(3) 2000 (4) None of the above

o wh v A gy g A R A wﬁaﬁﬂlooosﬂ?ré%lavﬁaé%m
a‘@ﬂéﬁmﬁ%,maﬁ Tl 9T B, o |l

gmﬁaawﬁamts%ﬁ%?

(1) 1000 (2) 1414

(3) 2000 @) ST F q HE TEl

60. Market risk is also known as :
(1) Systematic or Diversifiable risk
(2) Unsystematic or Diversifiable risk
(3) Systematic or Non-Diversifiable risk

(4) Unsystematic or Non-Diversifiable risk

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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61. A distribution Wwhere the value of arithmetic mean is maximum as compared to medigp
and mode, is

(1) Normal Distribution (2) Positively Skewed Distribution
A) Negatively Skeweqd Distribution (4) None of the above

?m?ﬁgqﬁ@wﬁrmﬁmﬁwWmem
> 98 :

(1) ™R Ryeoy (2) HPRIH w7 q e gy
(&Wmm@ﬁwﬁam @) SRET § § #5780

62. The power of test is denoted by :

(1) Alpha (2) Beta (3) 1-Alpha (4) 1-Beta

TRTT B AR BT Rraf Ry ST 8

(1) 31w (2) drer (3) 1-srewr @) 1-==
63.  Process of arranging data in new order is called :

(1) Manipulation of data (2) Standardization of data

(3) Sequencing of data (4) Standardized input

%%mmﬁwmﬁmm%:

(1) 321 %1 W@ (2) 321 #1 qFESEHToT

(3) 32 A ergEAT (4) "FEHPT gge

64. Analysis of variance is a technique used :
(1) To test the homogeneity of several variances,
(2) To test the homogeneity of two variances,
(3) To test the homogeneity of several means.
(4) To test the homogeneity of two means.

PHD/URS-EE-2022/(C0mmerce)(SET-X)/(D)



qEROT B favawvr ush A Bl ey fpe ot B
(1) 2 Fr=ranan &) prmumaﬂrmmmﬁ H femai
(2)@Wf‘fﬂaﬁmwwcrﬂmm%fm|
(3)W%Maﬁquﬂmmﬁ%mr
(4)ﬁwmaﬁmwwqﬁmmﬁ%ml

65. Sclect the incorrect statement out of the following regarding correlatio
les and is symmetric in nature.

(1) Correlation is the movement between two variab

(2) Regression establishes functional relationship between two
linear relationship between variables.

n and regression :

yariables.

(3) Correlation studies linear and non-
(4) Regression aims to find dependent variable.
geday X vREEA @ Ha9Y | frfatea
(1)ma‘ﬂﬁaﬁ%aiaaﬁwﬁr%ah;@ﬁﬁw%ﬁ%|
(2)§rﬁr=mﬁaﬁ%é1ﬂzmﬁmﬂzf€rwﬁam%l
(3)33#3&%%%%@%@1%—%@%3%%%1

(4)%%@%@%?{@@@%1

6. An empirical relationship between standard deviation,
quartile is :
(1) 4SD=6MD=35QD (2) 4SD=5MD=6QD
(3) 6SD=5MD=4QD (4 5SD=4MD=6QD
WWWW@TW%W@WW%
(1) 4ug S=6TH =54 8 Q) 4wg =577 =67 2
(3) 679 =574 3?:4?1@ 4) 5Tg Si=4T™ =67 I

mean deviation about mean and

If a random variable x follows chi-square distribution with 3 degree of freedom, then the

67.
mode of x is :
(H 0 2) 1 : (3) 2 4 3
u%@mgmmw%mmw%wm@ammwwawm
2, a1 x T aEAD B
Mo 2) 1 (3) 2 @) 3

68. Which of the following sampling scheme has no prior fixing of the number of observation
to choose ?
(1) Snowball (2) Inverse (3) Stratified (4) Multistage

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O



20 A B AT Fy s O
Frafefaa & @ g spen doen A g & fe o P
fufor 27 & 2 (4) aEEtE
(1) &hate (2) gad (3) Efehizs >

. : sence of proper sammr:

69. Which of the following type of sampling can be in the absen POPer sampjip,,

frame ?

(1) Simple random sampling with replacement
(2) Simple random sampling without replacement
(3) Stratified random sampling

(4) Systematic sampling

ST =i By B orw & Prer 3 @ R SR HT T B HEA B 7
(1) sfreqes & | qee argfess FAmon
(2)g%wwm%ﬁmwm§faﬁﬁ=ﬂﬂw

(3) ®IFT agfees THERT
(4) =R TagmERToT

70. Netflix is a classic example of :

(1) Skimming pricing (2) Value based pricing

(3) Penetration pricing (4) Cost plus pricing

AR HBT U SpE AT D -

(1) RefT g Fyeifzor (2) EI-SATRT B

(3) Uge™ g ey (@) P | orferes e freiRer

71. SERVQUAL Model of service quality consists of five dimensions. Which of the
following is not dimension of SERVQUAL ?

(1) Empathy (2) Tangibles (3) Consistency (4) Responsiveness
aargwam%ammsaﬁﬁamm@%%nﬁwﬁﬁﬁaSERVQUALem
I T 2 ?

(1) @wergyfer (2) uF (3) Herear (4) SEERE

72. According io which of the following decision making approaches, a manager picks up a
course of action that is satisfactory or good enough under the circumstances ?

(1) The Behavioural Approach (2) The Bounded Rationality Approach
(3) The Garbage Can Approach (4) The Cooperative Social System Approach

Wﬁﬂﬁ%ﬁwaﬁ%m%aﬁmﬁ, e FHrfaE &
Wm%ﬁqwfrmmmﬁ?@ &

(1) =EBR gRemer () 990 &¥ Ty gitepior
(3) TREAST 7 T ) TEHT AT arer g
PHD/URS-EE-2022/(Commerce)(SET-X)/(D)
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73. Onc trait that dominates the personality so much that it influences nearly everything a
person does, is a :
(1) Global trait (2) Specific trait
(3) Cardinal trait (4) Central trait
uh RN S e ) 39 be< Bl o Sl @ b W BX 39 | H
guifad A B S U Afd wiar 8, 98 © ¢
(1) Afvep e (2) faftre Ry
3) HiEaa Qs @) B Rwar

74. The Johari Window of interpersonal behaviour has 4 Quadrants. Which one of them
represents what is unknown by the person about themselves but is known by others ?

(1) Open self (2) Unknown self
(3) Blind area (4) Hidden area

IRERE AR H Sl fagd § 4 wgeiy @7 Bl I § P 39 S A
gﬁﬁf@ﬁrw%wﬁmﬁiﬁmﬁaﬁﬁm%%ﬁﬁ@ﬁ%mmm
?

(1) oM 956 () oFEF ATH
(3) =mETs iR (4) 29 uiar
75. Which of the following is not a basic function of 'Scanlon Plan’' ?
(1) Philosophy of competition (2) Identity
(3) Competence (4) Involvement system
Prefefag § @ S SdE @ B g B 78 B ?
(1) wfRrafrT &1 &9 (2) gB=™
(3) g (@) \rfET 9ot
76. 1dentify the pricing strategy where the mark-up is inverse to the elasticity of demand :
(1) Shadow pricing (2) Skimming
(3) Penetration pricing (4) Ramsey pricing
qer Frafeor TR # geEE X STET AE-0 HIT bl de & el @
(1) BRT gea FeiRer (2) s
(3) wast gea freier @) ¥ gea iR

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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77. Which of the following statements defin

ning ?

¢s boundary spanfl™ _
tion to account for its acgjy:.
vltl(:x

(1) 1t refers to obligation of an individual, firm or institu
and accept responsibility for them.

(2) It refers to the process that helps €
external environment through speci

(3) 1t refers 1o the science of morals, principle

(4) 1t refers to the multiculturism management. s 7

Prfafag & @ @-ar dee qmn faEr qfeaAfe BT €

(1) 9 el =ik, o an geen B R
sET @ ol oS R RrRer e B l

Q) 78 39 gfear @ danfr s 8 S Jed AR 3*“%;"‘5"'?‘“ B T
nﬁfﬁfﬁ?ﬁmﬁ%wﬁaﬁmﬁﬁmﬂﬁﬁﬁgﬁ . TGS BT 2 |

(3) FE Sfear, m@ﬁaﬁtm%ﬁaﬁ%ﬁﬁﬁaﬁwﬁﬁmﬁn%l

(4) 75 TEEEHRETE gaud B GEHa B gl

The model of decision support where there is recommendation of the type of

advertisement with humorous and ‘slice of life kinds of appeals to use for given

marketing goals and characteristics of products, target market and competitive situations

he organization and its employees to link with theis

fic activities/funcrions.
s and rules of conduct.

is known as :

(1) MEDICAD (2) PROMOTOR

(3) ADCAD 4) COVERSTORY
ﬁﬁwmﬁqwmaﬁﬁﬁﬁaﬂi‘mmW’%WW%m

Wa&ﬁaﬁtwﬁﬁﬁﬁwﬁ,m

F ey @ @ 8, [T ™
STANT # S arel ol B B9 F ST S

gmaﬁtgﬁwﬁﬁaﬁﬁ%m
(1)'ﬁ%%:s-
(3) TSHHIESI

Work measurement refers to : _
(1) The length of time it takes to complete the work assigned to a particular job
(2) Improving working methods

(3) Arrangement of machines according to operations

(4) Planning the work and working for plans

o o et 8 %

(1) fmett & A T HrEd B

(2) W FA B ThH 4 IR TP A R
(3) o @ IIGER AT B e

4) FE H Do T AR AR B R B B

(2) FHIET
(4) HaTE

PHD/URS-EE-2022/(Commerce)(SET-X)/(D)
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80. ..oiciiiiiianians is defined as dispute between partics submitted and decide by a neutral
third party.
(1) Collective bargaining (2) Affirmation Action
3) Arbitration (4) Negotiation
---------------- e T 9 ERT SRA oI MeR @9 gt well & 4 e
D ®Y [ Qﬁwf&a ™R
(1) argfess ﬁ%ﬁﬁﬁ (2) gfte BrfamE
(3) e (4) arrEia

81. Balassa Index is often used as a tool to measure
(1) Relative trade performance of individual countries in particular commodities
(2) Comparative cost advantage of Nations
(3) Product life cycle of different commodities
(4) National Competitive advantage
AT S Pl AFAR AN & RiT 0 I9HT B @9 F G Rar ST B
(1) R gegett § orrr-oren 39 B qhE AR Yee
(2) T FHT JEARHS AT ATH
(3) Ry~ awgedt &1 Sa shaw =%
@) T uieas e

82. Match the list below relating to the benefits and cost of economic integration :

A. Trade creation i. Movement of production and resources in
opposite directions.
B. Trade diversion ii. Become active when a member country does not

augment export but simply shifts its imports from
low cost source to high cost source.

C. Trade deflection iii. Shifting the locus of production from high cost to
low cost production.

D. Polarisation forces iv. Goods produced in third country entering a free
trade area through a member country having

lower tariffs.
Codes :
(1) A-ii,B-iii,C-iv,D-1i (2) A-ii,B-iv,C—-1,D—iii
3) A-iii,B-i,C—-iv,D~ii 4) A-iii, B-ii,C-i,D-iv

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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y & G B e gy
q waferr 3 .
mm%mﬁmm_ it R RISl e,
A, R i 1L 3 fafa =
B. &R Hy i, wipa o A e W ﬂ%m

wﬁm@aﬁmmhﬁu

B I T T A
C. =R f{ggoey un.G'tqﬁ"T;‘ mﬁ FEET!

D. gdiebor T 1V.m§%@ﬁq&ﬂwﬁ| .

: - D ..

i, B—1i -1, D-1

(1) A-ii, B-iii,C-iv,D~i @) A-ii,B-iv,C 1.D '
() A-iii, B-i,C-iv,D~ii 4) A-iii,B-ii,C~-i,D-iv

83. Domestic Tariff Area in India means :
(1) Any area outside SEZ,
(2) Any area except the custom bounded area
(3) Any special allocated area
4) Noﬁe of these
AR 7 Ry Wb B 1 anef B
(1) THESIT & 9T B § 2
(2) H&7 68T W B gt BE § Ay
3) B8 9w omfea Ay
@) 9 q B T

84. FIPB (Foreign Investment Promy
following agency ?

(1) FEFP (2) FFIP
(4) None of the above

otion Investment Board) is replaced by which of the

(2) THTHaEG
) Trftendd (4)%31}@%;@

PHDIURS-EE-20221(Commerce)(SET-X)/(D)
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The Uruguay Round provided "Sunset Clause” to control
(1) Customs Valuations (2) Dumping
(3) Techmcal bamers to trade (4) Dispute Settlement
wR AR A REEr & o guta @s’ gers @B
(1) d e JediEhA (2) =fer
() U ® o qede amm (4) Rrene fraer
‘World Economic Outlook' and 'Global Financial Stability" reports are prepared by
(1) IMF (2) WTO
(3) World Bank (4) UN

g P SN

é@ammw’m‘mﬁmﬁuw*wmm
(1) ETHATS (2) faga =ANR HIS
3) Rva ¥ @) g

A country is not able to fund its imports through its capital exports leading to deficit of its

reserve. It is known as :

(1) Fiscal deficit (2) BOP deficit

(3) BOP surplus (4) Fiscal surplus
@%ﬂaﬁf&ﬁﬁaﬁa%wﬁmﬁmﬁﬁﬁﬁﬁﬁwqﬁ%
Frgd 393 WeR & B & e 21 5@ a8 o HeT S B

(1) TSTRIETE |1eT (2) Srandt =reT

(3) drard TR (4) TSTHEA I

Which of the following institutions is known as the "Soft Loan Window" of the World
Bank ?

(1) IMF (2) IDA (3) IFC (4) ADB

Prfefan § @ Fpg gEE @ A ¥ B Cdme @F FE & w7 A S
o B 7

(1) ATATE (2) BRI (3) AR @) i

What is the full form of CAS with reference to W.T.0. ?
(1) Country Assistance System (2) Country Assistance Strategy

(3) Common Assistance Strategy (4) Country Assembly Strategy
sagdlal (WT0) & e # Hieed (CAS) &1 gof &g a1 B 7

(1) 31 FeEwar goIe (2) 391 WEE ORI

(3) amFg gEEal I (4) et TR TOFIN

P.T.O.
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91.

0
According (0 Eclectic Pamdig)ln, which of the following is pg basiy foyr
‘iermationalization of production * . S —
(1Y Ownership Advantages g; RZ#\I;?ZQ(IJ(:I: I;A?i%antagcs
(3) Factor Advantages 4 . I
Lmﬁfk%gﬁ%m%aw,ﬁﬂmf@ﬁﬁ@ﬁ“m%m%m
N F8F ?
() @fE @ (2) T A
(3) BRE Ty (4) SARIBHTT T
Marginal equity funds are alternatively known as :
(1) Gilt Funds (2) Index Funds
(3) Hybrid Funds (4) Balanced Funds
ST SR waw @1 fefas w7 @ ST ST g
(1) Free ggg (2) T3 BN
Q) =Efrs wag 4) I weH
Reverse TCpo rate is a tool used by RBI primarily to : N
(1) Inject liquidity (2) Absorb liquidity
(3) Protect bank credit (4) Build reserve
?ﬁﬁwwmeﬁmg@mémmaﬁ A TH Iy
(1) S Tfrafed 2) wauE fefFafed
(3) uitw= §% BRe 4) e Ror
ICICI was established in 1955 by an initiative of :
(1) Reserve Bank of India (2) World Bank
(3) International Monetary Fund (4) Industrial Financia] Corporation of Inida
aﬁ%ﬁanéaﬁméaﬁwml%sﬁmqm%géeﬁ?
(1) e R § () R =
(3) SIS 351 B @) e e R o
Assertion (A) : acgalrlzeggi?gapers are Issued by the reputed companies in the market fo

Reason (R) ; Commercial i’apers are unsecured i ing short and
fixed maturity, promissory notes having sho

(1) Reason (R) is true, Assertion (A) is falge,

(2) Assertion (A) is true, Reason (R) is falge,

(3) Both Assertion (A) and Reason (R) is true
of Assertion (A).

4) Both Asserti ; i
o A(s)seni;rsne(:;;n (A) and Reason (R) is e and Reason (R)'is correct explantion o

» but Reasop (R) is not correct explanation

PHD/URS-EE-2022/(Commerce)(SET-X)/(D)
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THFIT (A) : AT 3 gy Ot aw aearata 4 favr afodag g owrh
fvu ona &
HRT (R) : amffrgm W Hy o Ffgaa aftaaaar @ sgrtaa ang ay
d &)
(1) ®ITR) H R, ayfayepery (A) T B
(2) B (A) 5 R, DRV (R) 7o &)

(3) I (A) 3R FRo7 (R & Al BT (R) ST (A) 41 )
e T § (R) T wea &, Aftbsr reor (R)

W RT R (A) oM sreon (R) 34t |y & ol R (R) affadwast (A) %1 @
|

g5. Statement I : FDI is known as hot money.
Statement 11 : Participatory notes are associated with Foreign Institutional Investors.
(I) Statement I is correct, Statement 11 is incorrect.
(2) Statement I is incorrect, Statement 11 is correct.
(3) Both Statements are correct.
(4) Both Statements are incorrect.
T L: FDI %l 8fe o+l 3 w9 & s oy
T 11 : TEdmll e RRel dera frm @ g2 2
(1) 7 1981 8, SR 21 (2) Fo |7 2, wot M68 B
(3) A B wE B (4) S FEE AT B |

96. The system of collective bargaining as a method of settlement of industrial dispute has
been adopted and provided under :
(1) The Industrial Disputes Act, 1947
(2) The Trade Unions Act, 1926
(3) The Industrial Employment (Standing Orders) Act, 1946
(4) The Taft-Hartley Act, 1947
AN _fam 3 Foer 3 @iy & w0 § qmies GRast @ yord @ s
T B AR 59D ded e Rear T @
(1) ofrEnfep fare sfifwm, 1947
(2) ¢ gaT orfefmEm, 1926
(3) SfIENFIs TSP (Tarfl omesy) sifeifvam, 1946
4) Se-Bred arfaifEm, 1947

Which is the main governing body that deals with the matters related to EXIM policy ?

97.
(1) Commercial Banks (2) SEBI
(3) DGFT (4) RBI
uferr ifa & Hefta gl & FMued awn e o P deear &2
(1) aferfsaes S (2) |
(3) <t st ww & (4) o 41 g

PHD/URS-EE-2022/(Commerce)(SET-X)/(D) P.T.O.
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ato
. , o as the regul
98. Which of the following has been appointed s

100.

0
ry agency regarding the M
—Qr'\

of consumer right violation ? _
(1) National Consumer Protection Organization
() Central Consumer Protection Authority
(3) Union Consumer Protection Agency
. s ~tion
(4) National Authority for Consumer Protectio F QR
IR PR Seir @ At @ ade 7 Thy

%wﬂﬁgwﬁ}mvrm%? (o7 SRR
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i nts Act ?
What does protest means as per Section 100 of Negotiable Instrume

(1) The defaulting of payment instrument by the drawee 1n order o prevent payme,, o
drawer.

(2) The process of freezing the payment instrument by the drawer owing to it failyr,
being brought before the due date.

(3) A certification by a notary public of dishonou.r by non-acceptance or non-paymep; on
the request of the holder within a reasonable time.

(4) None of the above
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Which of the following policy has lost its sheen consequent to the implementation of the
GST law in India ?

(1) Monetary Policy ' (2) Fiscal Policy

(3) Trade Policy (4) Exim Policy

Frefafaa & & g AR X sra § of & FEataTT 3 giommEe
G THF & & B ? el +

(1) Afes iy (2) T iRy
(3) = ey (4) wirm iRy
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